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This unit gives you the opportunity to check up or your understanding

of the

doutle~bage transformations of Lanpuage
you idsntify weak spots in your background,
pinpointed, you will find that the other exercises offer & review for your

REVIEW UNIT FCR LANGUAGE III

phrase structure rules and expansion, and the single-bsse and

I1aad II, Exercise 1 will hels
Once such areas are

special need,

Exercise 1; Review and Disgnostic Test

Nedace the L

aentences to their underlying symbol strings,

Show how ezch sentence was produced,

Example: Sentence~-Whex <iid the race ?
We ¥ Tos ¥ Vin 3 El’I‘m

Keinel-«The race began at noon,

Yes~-or-no question
ns do+ NP+ Vin+ T

}{the race beg{u at noon?
wheattachment

T TMng+ do+ NP + Vin+ wh + Tm
N o sl N

&”ﬂw%“mw_ *d@*NP*Vr)
M .xffi/tb.cl{lcc begin?

Sally wors 8 blue dress at the party last night,
The frightensd child sobbed noisily,

That accident was caused by the Jandslide,

The fooiball rolled into the street,

Mary's father became tired easily,

V/ho caught the pass? '

How did you like the dessart?

We must scrub and vax the floors before dinner,
What arve they dancing?

Bruce spesks softly but distinctly,

(]

Wind and rain cause erosion,

We digsected the frog which was sick,

Thesie chords sondd discordant and harsh,

Where did you put the’salt ?

Mr, Edwards, the custodian, should replace the light,

The liustang crashed through the barricade and into the ditch,
Misa Ormaley tesches math and science,
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Did any of the sentonces in Exercise 1 contain elements that you
could not explain? Did you find sny kind of sentence that you imve not
studied? Perhaps you need only to review some of the grammar that you
studied last year, or you may have found some concopts that you have
not studied at a]l, Your problems in doing this disgnostic exercize should
direct you to the proper review exercises tliroughout this unit,

Review Exercise 2; Adverb of Plage

It you had trouble identifying “at the party” in Sautence 1 {A),
writing symbol strings for the sentences in Exercise 3, page 3,

in Expansion of Phrase Structure Rules, * should help you,
Review Exercise 2: Adverb of Time

Did Sentences 1 and 2 (A) cause any problem? Exerdise 3, (A),
page 8, in of Phrase Structure Rules, should help you
recall the a time,

Review Exercige 4; Active and Static Linking Verbs

Difticulty with Sentences 5 (A) or 3 (B) may mean that you have
forgotten some details about active and static linking verbs., Try
Exo:ucile 2, page 8, in Sxpansion of Phrase Structure Rules, for
practica,

Revigw Exercige $: Adverd of Directicn
Sentences ¢ (A), and 2 and 6 (B) contain adverbs of direction,

Review Exercise 3 (A), page 10, in Expansiop of Phrase Strycture
m&'nﬁmumlp:mp:o';wun. o Fhrase

Rgview Exercise 3: Passive

Perhaps you have forgotten how to do a sentence like #3 (A),

Exercise 1(B} on page 18, nsion of Phrage Structure Rules,
offers a good reviov? for uﬁ% sentencs.

Review Exerciss 7: Yes or No Questions

What is the first step in forining any question? Sentences 6, 7,
and 9 (A), and 4 (B) requirs this kind of trensformation, To
help you reviaw this, do Review Exercise, page 28, in Sipgle-

Bage Transformations.

R e 8: R came.

If ycu need to revisw sentences like 9 (A), Exercise 7, page 34,
Siggle-Bage Trensformations, will &id you,

*All review sxercises in this unit rcfer to the Expepsion ¢ g%
e o U]} I T L ]

e B
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R Exercise 9: Other Question Replace 8

Did you have trouble with the other questions, #7 in A, or #4 in
B? Exercise 10, page 37, and Exercise 15 {4), page 42, Single~

Bage Transformations, should help you,
keview Exercise 10: Subject Replacement

If you have forgotten about questions like #8 in (A), try

Exerciss 18, page 49, le~-Base Trangformations, 32s & reminder,
view Exercise 1i: All Quest

Exercise for Review (B), mﬁi 81-52, S - W

provides an excellent general review for all qu transforma Y

What kind of transformations produced Sentences & and 10 in (A),
I you nasl fo retrash your memory of confanctive wanatormations, the
you tor memory orma
following exsrcises wt{log helplul. ’

Review Exercige 12; Subject Conjunctions

For a better under of Sentence 1 in (B), do Exercise 3
- (B), page 6-7, inD =Bape Transformations,

Review Exercise 13: Verb Gonjunctions

To review ssntences like #8 in (A), try Exercise 8 (B), pages
13-14, Double-Base Transformations,

Review Exercigse 14: Coniunctions Formed with Other Parts of the

Did you have trouble doing Sentence 10 (A) or Sentences 3, 6, and
7(B)? These double~base transformations contain conjunctions formed
with other parts of the VP, What part of the VP form the conjunction
in #10 {B)? What parts form the gonjunctions in Sentences 3, 8,

and 7 (B) ? A review for these sentences may be founé in Exercise

8, page 18; Exercise 9 (B), pages 19-20; and Exercise 10 (B),

pages 20-21, Double-Bgge Transformations, - ‘

Which of the gentences in the Diagnostic Review Test contained
embedded elements? Look again at the sentences you missed, Errors
in Sentences 2 and 5 (A), or 2 and 5 (B) may indicate that you need more

experience with erbedding transformations,

Review Exercise 15: Fmbedding Transforirations

Turn 20 these sxercises in Double-Bage Transformations for
practice in embedding,




For Sentence 2 (A):
Exercise 2 (B), pages 23-24
Exercise 3 (B), pages 25-26
Zxercise 4 (B}, pages 27-28

For Sentence 7 (B):
Exercise S, pages 20-30

For Sentence § (B):
Exercise % page 31

For Sentence § (A):
Zxsrcise 2 (B), pages 35-37
Exercise S (B), pages 38-39
Exercise 5 (D), page 43
When you have completed your review, the following exercise will
matsure your eompetency in expansion of phrase structure rules,
and in single~-bage and double-base transforrastions,
¢ 16

Construct origiml sentences to illustrate each of the following:
A, 1. S;+ apd + §

whom or which
zo ocoNP"' that +NP8‘}A“:"'“VQQQQ
8. e T + Ad§f ¥+ M + NO
¢ NPy + t‘{,’:{"""‘f“’"}-b Aux + Be + Pr...

S ¢ o« Tmy and ¥ Tmy
8. ...+ Vir, + NPZ + apd + Vipy + NP?
7o oo ot NP, +-ond + Nl’z2
8% ooo* VP, + and + VP, |
8, NPy + and + NP; + rest of sentence
10, ... Diz'l and + Dir,
B, I, ... NPP + s+ N+ N, ,,
2. NPz'l'Aux"'be‘!'pn*Vtr*by*NPl
3, wheNP® + Tns + ll;gve + npl,

be
do

",,“
; ¥
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. M \
4, wh-nNp! + Tns + hsf?el LA
. be k 4 .
o |}
| ™ + npt, .,
5. wheMan + Tns + have )
be
do

Try to write symbol strings for the following., Some are the result
of transformations, '

» The United States sent Pakistan planes,

The Basques imoved the sheep to the mountains,
Mr, Williams sent the note home yesterdny,
Ve will have the game at Sutter's Mield,

o+ The team cannot play against those odds,
o Mr, Honiker gave his students a bad time,

Did you find any sentences which you could not d0? Which ones contain
slements that you could not explain? Do you see any similarity between
Sentences 1 and 6? Which sentences seem to contain Loc? How did you
classify the verbs in the sentences having a Loc? What two kinds of
Loc are used after intransitivs varbs? Arve the in the sentences
above all the same kind? What is different about Bentence 5? These
W’ and many others, will be explored in your grammar units
yeoar,

s

ﬂ)(ﬂ’b

s ememm - ree gt <

e L e
e S e o e s X . T




EXPANSION OF TRANSITIVE VERBES

THE INDIRECT OBJECT VERE

When you were working with the phrace structure rules you discovered
that there are five major types of verbs, -~ Be, linking verb, mid verb,
intransitive verb, and transitive varb—and that sach type hag special
characteristics, What are the characteristics of transitive verbs?

1. They are alwaya followed by an NP, (Rule (10) says that a
subkget of V is Wr + NP,)

Example: Vt%* NP

"The puppy dug a hole,
2. Tiey can become passive through the passive transformation,

Example: . The puppy dug & hole, ==)
A hole was dug by the puppy. .
How does the transitive verb differ from a linking verb followed by an
NP? How does it differ from the mid verb?

Exercise 1: Try to convert the following sentences to the passive
form, and thcp decide which ones have transitive verbs,

The waiter served the food.

The fence is blocking cur way,

The fire made shadows on the tent,
The dog was licking the dish,

Nc one has had time today,

The campaign was & success,
Polly will write a speech,

Robert gave the giri a bracelet,

*

QQO&U‘?“NH

Did you {ind any sentences which you could not tranaform to the passive?
What kind of verbe dic these sentences contain? Did you notice anything
different about sentence #3? What? When you transformred gentence #8
to the passive did you have the following?

- ‘The girl was given a bracelet by Robert.
Or did you have this sentence?

A bracelet was given to the girl by Robert,

Eithsr torm is possible, The verb in this senience is different from the
other trangitive verbs which we have looked at so far in being followed
by two NP's, and in being capable of the two different passive trans~
formations, Let us see if there are other transiti @ verbs which have this

quality,

Exercige 3: Try to convert the following sentences into the passive
form, Whenever possible convert in two ways 2nd list
the verbs from the sentences in which thix is possible,

re 4 am e — mana
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The superintendent awarded the team a trogphy.
The halfback kicked the ball,

The company will sené George 8 bonus,
Frannie bought her brother a book,

A workman is topping the tree,

The kids have shot {irecrackers all week,
Teddy has clipped the grass in the front yard,
The university presented Linda a scholarship,
The <lerk must have sold Tom a lsmon.,

10, The waxter made Jane a rmlkshake.

COLENDY BLN

Verbs, such as those you have listed, are said to be verbs which take an
indirect ob;ect and the additional NP which enters the sentence with
these vervs is calied the Indirect Object.

We know how to make branching diagrams for sentences with Vir + NP
but how will we diagrem a sentence which has this second NP? If we try
to diagram ''Robert gave the girl a bracelet” (with the symbols we know
alrzady, ) we can account for all parts of the sentence except one, We
have nc place for the girl,

' Se_uteoce\
) NP /

Arx/ V?rb
Tns Vp
[ ]
past /V
Vtr
Robert + past *+ give + =& bracelet

The diagram results in *Robért gave a bracelet which is un-
grammatical because something is missing, - Obviously we need to
%w that this special kind of transitive verb is followed not only by
(bracelet) but also by another NP (girl), V'e will call suck verbs

| md:rect object verbs and give them the symbol V. Hg The second NP

which appears with this special kind of verb is the indirect object,
which we will symbolizz as I0, Inthe branching diagram we will show
that the indirect object verb and the indirect obJect branch off from Vtr

because they are a subset of Vtr,
. v
\7P2 Rule (10)

Vt‘

tho
2

Symbol string, . . Vtil + I + NP
Sentence string, . . gave the girl &« bracelet

, . . . ,
K ., R -
” .. :
5 L. .2 B B , . L.

. . . . H “ “

- . . . b .

) “ ‘ P L7 . - L .
. R o - . . PO - tuy PR - B I /e B i i) P
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We can now write a rule to show that Vtr includes, along with many other
types of transitive verbs, this special class which is followed by an indirect
object. Because this is only one kind of transitive verb we will use a
bracket and (. . .) to show that there are other kinds, We will add some

of the other kinda later, In Rule (10.1) we expanded the intransitive verb, ‘
Now we are expanding the transitive varb, This is the second expansion

of Rule (10) &nd we will call it Rule {19, 2),

. ' JVtio * ﬁ‘[
Vitr ---)é ) )

. Now we will try to dafine more specifically what this Vtio means,
In ths first scotence we talked tbout-'-%goﬁ %g girl a bracelet, --

‘there is a word implied between gave a

Robert gave the girl s bracelet.

g;vte? state the sentence in another way the word actuslly occurs. What
' ' Robert gave a bracelet the girl.

" What words fit into the blanks in the following pairs? In ﬁrhich gsentence

of u?& guir does the word actually occur? In which sentence is it only
1. The teacher might read the class a story.
The teacher might read 2 sto the class.
2. The boy must have left ____ the dog some food.
The boy must have left some food- . the dog.

3. Hagell asked the plumber & question,
Hagell asked a question --- the plumber,

The word you have supplied in cach sentence (to, for, or of) and the NP
which immediately follows it should actually be Jooked on as part of this
particular kind of transitive verb. Some indirect object verbs are accompenied

. by to, some by for, and some by of and nl& of them are followed by an

indirect object N, which we will call NP?, Words like to, for, and of are
called prepositions, We can sy then that 10 is made up of a preposition,
which we can symbolize as prep, plus an NP, We can state this fact in

a Tule:
l I0 ., prep + NP3 ‘

Now let's &lamm & sentence using our new rules,

e e e . + e e e . .
[ . . - g »
» - P
« ‘ " Kl
\ ’ -
* ‘
.
\

— o —— bt

N
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Symbol string: NP * pJat +- M+ Vtlo + pl"ep + Np? + NP2
. . { -
Sentence string) The teacher + past + y+ read¥ to + theg¢lazs + a story

-9~

The teacher might read the class a story,

Sentence .
NP >v |
Aux ) xgerb
| - 1 Ly

L Agy Vrb
S

pa,st - | tr/v\l\'
Vt;llo/, \I\

1 ;74 1*?’3

N\
(Sentence) The teacher might read to the class  a story.
Is the sentence which results from applying our new rule in this diagram

. a grammatical sentence? What could you do to make it grammatical?

There are two possibvilities,

1. We can delete the to and leave the rest as it is.
(The teacher might read the class & story. )
or
2. We can move the to and the y_P3 to a position right
after the object NP2
(The teacher might read a story to the class)

_ We must do one or the other. A choice must be made if we are to producea . .
grammatical sentence. Now, you know that when we change the siructure -
. of a sentence produced by the phrase structure rules, we are performing

a transformation, So when we make one of these two changes to produce
a grammatical sentence we are performing mobligatory transformation.
How shsall we symbolize what happens in these transformations? The
symbol string for any sentence with a Vtj, can be written

§

NP + Aux + Vi + prep + NP3 + NP2

We can make use of braces to indicate that the transformation to be
performed on this string will be one kind or another. In other words
we will use braces to show that we have & choice of transformations,

{ R
R

.
)
.
. .
, . P * .
a— P e e o —_— N et e A R SR £ SNSRC md B Y W R oo o o o) o e i e e St 3%

o s S - DoAY




npt + Aux + Vijy + prep + NEd + Np? e

"NP! + Aux + Vi, + NP3 + Np?

NP! + Aux + Vtjo + NP° + prep + NP°

Exercise 3:

A, Construct sentence diagrams for the kernel urnderiying <ach of
the following sentences, Remember that when & Vi;, verb enters
the diagram, it is accompanied by an Indirect ObJect which consists
of a preposition plus an NP, In order to save space, do not
develop the NP's, Just bring them down tc the symbol string as
NP'!'s, See the exampie on p. 4.

The ambassador bought the interpreter a dictionary.
Mr, Goldwater offered the people 2 choice,

Mrs., Thomas has made the class a trophy.

The government will be selling Japan the minerals.
Indians have given the settlers instruction, ,
Walter has been asking the foreman questions, :
The senator wrote Sandy a letter.,
Politiciane should tell people the truth,

Isabella gave Columbus the ships,

10, Hope gave them courage,

] [ 3
3 A den e aa st emestnne bt Tr e Ateehe 1 g by e a

(DCQ-QG).U'#CA’NH

i E. Transform the sentence étrings in A to grammatical sentences
| by deleting the prep.

C. Transform the sentence strings in A by relocating the 10.
Exercigse 4:  Construct ten sentences which contain Vt;, verbs.
What tests must such sentences pass?

Exercise 5: The following sentences are the results of transformations.
: For each one write the underlying string which was.

produced by the phrase structure rules,

Example: Joe gave Jim a black eye,

D}TP + Aux + Vtio ¥ pziep' + ‘1?3 + NP
J

.Loe ve to

2

a black eye.

. Father brought some roses to Mother,
The swindler made Jim 2 proposition,
The officer asked Jeff some questions.
rrank built a playhouse for the children,
. The cook baked the man a cake,

[

L]
N e v e e e nm e m
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What we have learned: ' .

1. A Vt; is a kind of transitive verb followed by an
indirect object. (IO)

{ 2. ThelO is made up of a preposition plus an NP,

{ . 3. The prepositions whichk occur in IO are either to,

- for, or of, For ccnvenience we call the NP wmch :
follows the preposition in the 10, NP, This
occurs in addition 'c% the regular direct object NP
which we called NP<, '

[

4, BEecause the IOé)bJect enters the sentence in
front of the NP“ a transformation must either
delete the preposition or move the whole 10
to a place after NP3,

Example: The policeman gave to the boy a
ticket, ===y - p

g The policeman gave the boy a ticket.
or :

The policeman gave a ticket to the boy.
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TRANSITIVE VERBS OF DIRECTION

Each of the' major classes of verbs, except Be, can by broken doem
into.smaller subdivisions. For instance, you know that there is s special
class of intransitive verbs which take adverbs <f direction,

Example: Vig 3‘1-.
. The boy div\d o the water,

In Rule (10, 1) we symbolized such verbs by Vid + Dir,

You have also. learned tha: the transitive verb can be subdivided into
smaller categories, For example, one small clags of transitive verb ia
the indirect object verb, larger classes into smaller classes
means that we are being more specific about the smaller classes. To
say that give is an indirect object verb is more specitic than to say simply
that it is a transitive verb. It is more specific because indirect object
verbs have some special qualities which do not apply to the genersl class
of t::;nsitive verbs. What are the special qualities of an indirect object -
vern: - . ’

In this unit we will be interested in discovering whether there are
other subclasses of transitive verbs. :

Exercise 1, In the following sentences, find the indirect object
verbs by applying the test for such verbs.

The coach gave the swimmer a demonstration,
The teacher sent the girl to the office,
Peter gave his sister a necklace.
Joe wrote Jim a letter.
The store gave the student credit.
The man built his mother a house.
The old lady asked the Scout a gquestion,
Sally designed her n:other a dress.
The policeman gave the old lady a ticket.
The children sent & present to the teacher.

Did you find any sentences which would not transforra to the passive
in two ways? What kind of verb is there in sentence #2? Is it an indirect
object verb? How do you know? Does Sentence #10 contain an indirect
object verb? How do you know? Sentence #2 and Sentence #10 look very

much alike,

b
L}

(WY
QWO IND b W
L ) [ ] ® [ [ ] ®

L)

' The teacher sent the girl to the office.
The children sent a present to the teacher.
But what happens when we try to transform them into passives? Number
10 transforms in two ways:
A present was sent to the teacher by the children.
The teacher was sent a present by the children,
Can #2 be transformed in two ways?
The girl was sent to the office by the teacher.
* The office was gent the girl by the teacher.

. 4 -
. - . ’ . - . »
.
.
. v' . . ) R
’ - - ’ . .. -
: : { - Mot . -t
- . men oS g e he ot er g o w = = e smfest ek et ass sntesm s i -
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Obviously it is possible to transform this sentence into the passive in
only wiy, What, then, would you siy is the difference between the
verbs in gentences #2 and #10°? ‘

Try to recall the discussion of the intransitive verb class which takes
'adnrbo of directiion. These adverbs answer the question where, meaning
'to what location”, Adverbs of direction can be either one word or a phrase,
They can be transformed to questions comdnﬂn{’whez_-g plus to,
Example: The boys are hiking t>.Death Valiey, ,
Where are the boyz hiking to? _;

Now try to replace the intransitive verb hike in the sentence above
with & transitive verb, Remember, the transitive verb is followed by
an NP and it is able to undergo the passive transformation,

The boys sent the sheriff to Death Valley,
The boys ﬁvg the car to Destli Valley,
The boys rode the horses to Death Valley,

Send, drive, and ride are all transitive verbs, and they can each be
accompanied by the same directional adverb as the iniransitive verb

hike, They represent a small class of transitive verbs which occur with

a direction adverb, Can you think of other examples? You probably

have ncticed that not all trunsitive verbs can occur with directional adverbs,
This small subclass can be symbolized as Vigiy + Dir, Thet of course

. is your clue that this is a part of the class of transitive verbs, Tae

dir is a clue to the fact that this is the class which occurs with the
adverb of direction, And from your previous experience you know that
Dir is the symbol for adverbs of direction, How can we include t.is new
clags in the rule which rewrites Vtr? We have already accounted for the
indirect object verbs in this class, We will continue to usge the symbol

(. « «) to show that there are other kinds of transitive verbs which we
haven't yet accounted for, So 10, 2 will now look like this:

Vtio + 10
Vtgiy +.. Dir

Rule (10,2)] Vir —

Exercise 2: Copy the following sentences and label the verbs as
Vtj; (indirect object verbs); Vig (intransitive verb.
of direction) or Vtg;,. (transitive verb of direction),
Also label the indirect objects (10) and the directional
adverbs (Dir), Be able to explain your choice,

Vtgir Dir

Example: The shortstop threw the ball to the pitcher,

1, The boy gave the apple to the teacher,

2. The hawk dived at the chicken,

3, The teacher sent the girl home,

4, Water has been trickling into the basement,
5. We drove the car into the garage,
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8, The conductor ran toward the station, .
7. The man direcied the boys to the exit, '
8. Jim led the donkey toward the gate,
8. She drove the car away,

10, Jack guided the ball into the basket,

We think of the adverb of direction as being very closely attached to
the transitive verb of direction because it occurs with this particular
sub class and not with others, We say that the adverb of direction comes
into the sentence attached to this subclass of verbs which we have called
Vt4e Therefore it wiil appear in the branching diagram in this way:

AN\

Vip
Vtg; / )Jir
Symbol
String: Vidir + Dir + NP2

The NP2 is, of course, the direct object NP which must accompany any
transitive verb, The following diagram shows how Vtgist Dir appears
in'the sentence string,

We drove the car irto the garage,
S
q/ \/VP
Aux Ver
A l V\
P2

T'i’
past Vit
Symbol - | 2
- .String: = NP + past + - .- r + NP
* Sentence
String: e + pax: drive 1 /‘o the garage + thf car,
Sentence:  * We ove fage the car,

We can see that the phrase structure rule which adds Vi + Dir
results in an ungrammatical sentence, Perhaps you r'éé’ﬁ"ﬂﬁf‘fﬁé' same
gituation exists with the indirect object verb, The Vt;, brings with it
into the phrase strugture an indirect object (I0), whic 11 comes between
the verb and the NP“, The result is an ungrammatxcal string,

Example: Robert gave to the girl the bracelet,
To produce a grammatical sentence, a transformation must take place,
What two alternative transforimmations did we discover would make this

e ma




sentesice grammatical?

1, We can move the 10 to a position after the NP2
(Robert gave a bracelet to the girl,)

2, We can delete the preposition in the IO,
(Robert gave the girl a bracelet.)

So we gee that the order of elements in the grammatical sentence is the
result of & transformation,

Similarily, the Vtdir + Dir brings something inio the sentence
string between the vérb and NP¢ and produces an ungrammatical order,
Example: We drove into the garage the car,

What can be doxie to make it grammatical? In this case, unlike the indirect
object, we Lave only ore choice for making it grammatical, What is

"into the garage'" in this sentence? This directional adverb is the element
which must be moved to make the sentence graminatical.

We drove the car into the garage.

Let's write the symbol strings for these two sentences to show what
happens in the transformation,

Tet + Vtgir + Dir + sz-_-.-.-.) NP+ past + Vigir + 17P2 + Dir
We dro

N~ /
HGTh_'gége the car W drove the car into

fhe garage.

This shows us that we can write the rule for thiz transformation in this
way,

T™ir | NP + past+ Vg, + Dir+ NPZ==)NP + past * Vtgjy + NP + Dir

When the directional adverb is a single word does the same thing happen?

The teacher sént home the girl.‘==% The teacher éent the girl home,

Exercise 3: Copy the sentences and underline the part of each which
: functions as the directional adverb., Write the symbol
‘'string for each sentence and perform the obligatory
transformation to make each one grammatical, Write
symbol stringsfar the transformed sentences &lso,

Example: I;P * w(ﬁr ;/Dir + )\IPZ
Jimmy ro e to the corner the bicycle,

NIP'*'pat"'Vh. P2 + Djr
Jimmy rode the bicycle to the corner,
A, 1, The teacher sent home the girl, . |

2, The boy drove into the garage the car,
3. The girl sent here her sister,

ﬁ y ’ - R ~
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The dog guided into the fold the sheep,

He drove into the field the horses,

He guided toward the exit the boys,

The farmer sent to town the grain,

. The driver drove toward the marketplace hxs cattle,

'-JQ.UHb

o0

B, Make sentence diagrams for the following sentences. ‘Perform the
obligatory transformation on your sentence string to make it.grammatical,
"In order to save space, do not develop the NP's, Just bring them
~down to the symbol string'as NP's, .

..
S cren W e a A nmt gk . e eVt Smie b e
.

Exampleg The pointer chased the bird to the hunter, ’

b MR el Rt YR N o Wi Vadenwre fpt A K math e B b A St aom ww WY h L

Syibol | / |

$ring: N + st + V + Dir + N T |

D ;

Sentence 1 tT" '-J ) é% ]
String: The pbinter + past + chase + to the hunter + the bird

Tranefoimed string: I‘P + paa\st + VtS: NPQ' Dir |

The pointer + pagt + e + the bird + {o the hunter b

The pointer ed the'bird to tl‘e hunter,

John sent his sister to the store, :

The. hunters chased the deer toward the woods,
A dog has carried this bone into the yard,

» A truck will take the papers to the warehouse,
The computer is guiding the rocket to the moon,

th?b&u

)

V/hat have you learned?
1, One sub class <f transitive verb is the Vtg, * Dir.
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2, This class of verb has attached to i‘t 8 directionel adverb, which
answces the question "Where to?"' -

3. The directional adverb may be a phrase or sometimesa single word,

' 4. This Vt + Dip appears in the diagram and in the sentence
R string b ore NP and produces an ungrammatical senptence,

'Example: Tiie cat b V;tg{r to th l)’{doox- door the méuse, mZn

5. An obligatory transformation is necessary to mov, the directional
adverb to a position immediately following the N

The cat brought the mouse to the door,"

TRANSITIVE VERBS WITH PARTICLES

You are beginning to discover that theré are types of transitive
verbs, Besides the simple transitive followed by NP®, you should now .
be able to recognize the special class of transitive called ths indirect
object verb (Vt io) and the class which is accompaniod by the directionsl
adverb. What is the one test that is applicable to all transitive
verbs ? additional test is applicable only to an indirect object verb?
What is the test for the Vtyi,, class?

Exercise 1: List the root form of the verbs in the follcwing sentences
and label each with the symbol which indicates what type
Example: "ﬁ-.&“%i:::u Toerpeine,
. r ane a
bring -~ Vt;,

A, 1, He drove the car into the garage,
2., John sent Sally a letter,
3. John baked Jill & cake,
- 4, Gerry received the awrn.rd,
5. The man drove his caz home,
The oriole has built & nest in the cherry tree,
7. The boy asked the teacher a question,
8, We sent a rocket toward the moon. '
He is typing his exam,.
She ¢ave some cheese to the mouse,

e
L J
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B, Write the underlying strings for the sentences in A,, and indicate
if each is the string produced by the phrase structure rules or if
it is the result of a transformation, If it is a transformed string
write the underlying string from which it came. In case of doubt,

diagram the sentence, 3 2
Example: , I}IP + pa<+ Vt;,, + NP° + ‘j:
Father " brdught Jdne a surprise,

" This is a transformed string from .

|‘p + past + Vij, + prep + 71:3 + 7P2

Father brought to Jane a surprise,

In the exercise above how do sentences 2, 3, and 7 iiiffer?' How are
sentences 1, 5, aud 8 alike? What is "in the cherry tree” in sentence 6?

In the last unit you learned that all sentences which contain a Vidir
verb are the result of a transformation, The Dir (directional adverb) comes
into the sentence with the verb, Then it must be x_noved to a position following

the NP2,

Example: NS + pawr“' z‘r * .N{z |
The Boy gHot toward Dea ey the arrow,
" NP + past * Vigie * 792 + ir
The boy s\ot/. the arrow tJEEFE'Lﬁ'VSTEY.

VWhat kind of verbs do you find in each of the following sentences ?

Exercige 2: COpy the following sentences and wri"ce the symi)ol
strings above each,
Example; 7? + past ytdir + er + Dir

"Ed . pushed the car to ihe station,

Mick rowed the boat to shore, )

Father plunged the knife into the roast,

The librarian put the books on the shelf.

I stuck the key into the lock,

Jerry has taken his work to school,

The pitcher threw the ball to the umpire, - o
. A monkey was hurling coconuts to the ground. .

. Joan threw the coffee out,

e o v

oa-amyuhwwp

In each case you probably found an.element which answers the question
"Where to?" and therefore decided that each sentence contained & Vtg;,
verb, We found that when a sentence contains a Vidir verb the
directional adverb is an essential part of the verb and appears right after
it in the phrase structure string, Sometines the Dir is one word (home);
sometimes it consists of a preposition + NP (toward the market),
Whichever it is, the sentence containing it is not grammatical until it

P—
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has undergone an obligatory transformation in which the directional
adverb is moved to a position right after the NP4,

Example: Mick rowed the boat to shore.
is 2 transform of Mick rowed to shore the boat.

Exercise 3: Write the mderlﬁng symbol strings for each of the
' sentences above, showing what they were before the

transformation,
Example: N{’ F past ¢ Vtgiy + Dir + P2
Ed pushed to the station the car

Look carefully at sentence #8, It seems to have a verb like the

Vigip verbs d the cther sentences,

i1, Mick- rowed to shore the boat,

2. Joan threw out the coffee,
In each case we have attached to the verb an element which answers
the question where tg? How do they differ? In #1 it is necessary to perform
a transformation to produce a gram..."tical sentence, Is a transformation
necessary for #8? We can say
Joan threw out the coffee
or -

Joan threw the ccffee out.

How is the verb in sentence #8 different, then, from the Vtg;,. of the -
other sentences? We can say that in sentenceis with Vt e Dir element
must be transformed to a position beyond the E?z to produce a grammatical
sentence, But in sentences with verbs like threw out, the element attached

NP2,

We wil) call elements like out in sentence #8 particles. They come
into sentences attached to certain transitive verbs and are really a part
of the verb structure, just as the 1O or the directional adverb are really
parts of the verb structure, When we make the sentence passive these
particles stay with the verb, (Joan threw out the coffee. The coffee
was thrown out by Joan ), But they can be moved to a position beyond
the direct object (NP2), We will use the symbol Vtn + Prt to indicate
this particular subclass of transitive verbs, Ths Vi TFenmimds us that
the verb is a subclass of transitive verbs. The prt indicates that this
class brings with it an element which we call a particle,

AN o BoA Wt A b A bt ol Bl W ok S h T

In  Joan threw the coffee ont the particle out seems to answer the
question where to, but it should not be confused with directional adverbs,
We must ask if all particles answer this question, Look at the following:

I looked over the report,
I looked the report over,
Is over a particle? How do you know?
The committee looked up the information,
The coramittee locked the information gg.
Is up a particle in these two sentences? How do you know ?

©

Aruitoxt provided by Eic:
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" Neithsr %mr over in the gsentences above answer the question
where to, We can conclude that particles aren't necessarily like directional

adverbs, The important thing to remember about particles is that they

are really a necessary part of the verb, (We wouldn't say "The committee

looked the information, = or "I looked the feport. ") and they car appear
either before or after the direct object (NP<), Transitive verbs with

particles are different from the other transitive verbs because of the

movable nature of the particle, They are a special subset,

Now, how can we include this additional subclags of transitive verb
in rule.10, 2 which rewrites Vir? It is the third subclass of transitive
verb which we have identified, . What are the other two? We can add it
to the rule as we did the other subclasses, making use of the symbol
(., « » ) to show that there are other types which we haven't defined yet.
g’;th thl;: addition of the class of particle verbs: the rule should now look

.like this: - ;

Vi + 10
thir + Dir

Rule (10, 2) Vir —3

thl‘t + Prt

l

Like the others, the particle verb appears in the diagram as a sub class

of Vir.
. - v | |
[ Vtr/\NP2
Vi, | \
Symbol o I

String: Vigry +  Prt  + NP2

— . e e -

' \‘l‘ ' P
ERIC "



21~

The diagram for Joan threw cut the coffee would look like this:

! / s\ /’:
NP

TSR TV Y AT

Syinbol

String: NP + + NP2 |
| ~ Sentence ’
‘% String: Joan  + +  the coffee

Sentence: Joan out the coffee, :

You will recognize the Viprt verbs by the fact that the particle can i
follow the verb immediately or it can move out beyond the NP2, -

Exercise 4: Try to identify the kind of verd 13 each of the following,

Bradford gave the group a trophy,

The teacher might read the class 2 poem.
Candice threw out the flowers,

Jill put away the paper,

‘My cousin brought up the question,

The Communists will take over the government,
Father tcok Bill to the woodshed,

The men blew up the still,

You can lead a horse to water, 3
The child turned on the lights,

We have found that sentences with Viprt verbs are grammatical
either when the particle immediately follows the verb or when it is
moved beyond the NP2, a

(Jill put away the paper, sesmy Jill put the paper away, ) ;
When it is moved it is of course going through & transforma but
unlike the transformation for Dir and JQ it is optionsl, can we write
this transformation rule? Only the Vippet * Fart + is involved,
80 we will use elipsis marks {, ., , § for %53 rest e sentence, We
will call it the particle transformation,

T prt eo e Vippt * Prt + NP?, | ,=ny ., Vigy +NP24 Prt, ..,
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Before leaving the Vi, verbs we must see what happens when the
_111_1?2 ha;ppens tobeap (You know that & pronoun is a special kind
of NP, -

~Exercise 5: In the following pairs of sentences the particle appears in

two positions, In gach pair, substitute an appropriate
pronoun-for the NP4 (him, her, it, them). Then decide
which sentence in each pair is grammatical when the
NP2 is a pronoun, Star the ungrammatical sentences,

Exampile: Joan threw out the coffee, *Joan threw out it,
Joan threw the coffee out, Joan threw it out,

i, Jiil put away the paper,
Jill put the paper away,

2. Susy brought in her friends.
Susy brought her friends in,

3. Jane brought up the question,
Jane brought the question up,

4, The Communists will take over the country.
The Communiats will take the country over,

5. The men blew up the bridge,
The men blew the bridge up.

6. The coach pointed out the boy.
'The coach pointed the boy out,

7. The men pitched in the hay,
The men pitched the hay in,

8. He called over the waitress,
He cailed the waitress over,

Which of your rewritten sentences were grammatical, those in which
the particle was left attached to thﬁgrb, or those in which the particle
was moved to a position after the 7 From your observation of the
above sentences how would you answar the following questions?

1, When the NP2 followinga V verbicamin, is the particle

transformation obligatory fonal?
2. When the NP?following & Vs verb is a pronoun, is the particle
transformsation obligato ml?

Exercise 6: In which of thie following sentences is tho_' particle
transforrastion obligatory and in which is it optional?

i, The president called out the guards,
2, My brother put in a dollar,
3. Fred put on the boote,

I«
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Fred put on them,

The coach sent in the waterboy,.

A dog chewed up th= hose,

The ccach sent in him,

The magician pulled out the rabbit,
A cat tore up it,

10, The fireman pulied out him,

&

OCD::OQO)

V/hat have we learned, go far, about the transitive verb?

. We know that all transitive verbs are followed by an_l_‘lfz (sometime s
called the direct object).

We know that all transitive verbs are capable of the passive transfor-
mation,

We have identified three sub classes of the large class of transgitive
verbs,

We can recognize indirect object verbs,
(What is the test for an indirect object verb? _
What sentence element is attached to the indirect object verb?
What are the two parts of the indirect object, )

We can recognize a Vitdir verb, '
(What question doeés the directional element answer?
Where must the directional element be placed in a grammatical
sentence ?)

We can recognize Vi
(How can we rem‘E‘HZe a particle?
What happens in a sentence with a Viprt verb if the direct object
is a pronoun?)

Testing what we know,

Exercige 7: Identify the verbs in the following sentences.
Part A

The child stuck out his tongue, .

The manzger made the team an offer,

The natives will take him in,

Peter took the princess to the dance,
-Jot asked her a question,

The sailor dragged the whale to shore, : ’
The company buiit him a house, .

Their parents give them an allowance,

The horse pushed open thz gate,

Bill ran the car irio the fence,

[y
O@COQPU‘.&OONH

Part B, 'Dil.agram the sentences in A, In order to save space,
do not develop the NP’s,

’
! )
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Example:
Pam is putting them up,

|

f

|

f

i
WA AN S

T v '
Tns 7e+ing
i

P’r'es . - " /v\\ , -
Vtr NP '
vere b
Symbol 7 r

.’1 )
String: NP + pres + be + ing + Viprt + - Prt + NP

——

C. When the diagrams produce ungrammatical sentences, perform the
necessary transformations to produce the grammatical sentences

above,
Examplei + + + + +
Pam pres e i u them, Tort
L "% T =
Pam cis putting up thém, _
Pam + presg + be + + + them + Pe !
SR O 7 sl § 1 -
Pam is putting them up,

TRANSITIVE VERES WITH PREPOSITIONS

We have discovered that the transitive verb has many subclasses, F
each of which behaves in a special way, As we have identified each new
subclags we have added it to the rule which says that transitive verbs
can be rewritten 4s one of its many types, ‘

In each of the subclasses which we have identified the verb has something
attached to it which adds another element to the sentence string, The
indirect object verb (Vo) is followed by an indirect object, The particle
verb (Vtppt) is followed by a word we called a perticle, and the Vtg;, is
accoripanied by a directional adverb, In each case the element which

©

ERIC
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characterizes the verb is attached to it in the phrase structure sentence
string,

For example, the symbol string underlying "The teachsr sent the
girl into-the garden is: L
NP + Past + Vigi. + 31' + Np2

The teacher \ﬁ nt into the garden the girl,

It is necessary to transform this sénteuc'e in order to make it grammatical?
What transformation must take place?

Similarly the underlying string of sentences containing indirect objects
produce ungrammatical sentences which must be transformed,

NP + Past + Viio + prep + 3 4
The teacher  jave to the girl an assignment,
What possible transformations can take place here?
The underlying string of a sentence with & _\Ltm.mb produces
sentences like this:N R . ¥ § Prt + 2
past t .
The teacher put u the map,

Is a transformation necessary foi- sentences with particles? Is it possible?
Is it ever obligatory? .

So we see that in each of the subclasses of transitive verbs which
we have studied so far it i3 possible to move the element waich atiaches
to the verb to a position beyond the NP3, Now we want 10 tzlk about another
kind of transitive verb and see how it resembles and how it differs from

.the ones we have studed so for.

Exercise 1: Copy the following sentences and identify as many
of the verbs u’;:u can by applying the tests you have

learned, In cases where it is possible, move the element -

which have come into the sentence attached to the verd,
It it has already been moved, say so,

Exemple: W:S: Prt '
He called g’ghh frionds, wes)
" Be called his friends yp,

John threw the towel away, >
¥e drove the car into the garage,

Joan looked at the painting,

Many people give contributions to the Red Cross,

We headed the boat toward the island,

U‘oﬂ?“u
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Joe talked about rockets,
Grandfather paid for the gas,

Mary made up the story,

Laura took her mother to the store, _
They tried on coats, . . ‘

e s —— e St g o

QCD.CO-QO)

1

Did you find any sentences which you were unsure of? Look at the verbs ' !
in sentences #3, #6, #7, Are these transitive verbs? Can they be

made passive? !
]

3. Joan looked at the painting, ﬁ.
The painting was locked at (by Joan, ) !

6, Joe talked about rockets, _
Rockets were talked about (by Joe,)

7. Grandfzther paid for the gas,
The gas was paid for by grandfather,

(Remember that when the passive seems awkward it is because we often
delete the agent after the transformation has been-made, Thus we would
probably say The painting was looked at,; Rockets were talked about, ;
etc., but they would still be passive constructions,

These sentences pass the passive test so we know they are transitive verbs,
e can see also that each one has an extra element attached to it which
goes with it into the passive (looked + at; talked + about;) and which is
an essential part, We wouldn’t say Joan looked the painting or Joe talked
rockets, They belong to the verb just as the particles and directional
adverbs belong to their verbs, Now let's ask if these elements cax be
moved to a position beyond the NP2, Are the following possible?

*Joan looked the painting at,
*Joe talked rockets about, '
*Grandfather paid the gas for, ’ z

Ve can sée that unlike particles, the elements that attach to these particular
transitive verbs can not be moved, They raust stay right with the verb,
The transformation which was obligatory with the directional verb and
optional with the particie verb is impossible with this verb, Such a
transformation would result in an ungrammaticsl structure, These un-
movable elements which attach to a certain class of transitive verb are,
of course, prepositions, They really seem a part of the verb itself,
We will label this particular kind of transitive verb Vtgre + prep. It will

. appear in the diagram in this way: . ) )

Vitr /'\Pi -

thre{ rep

Symbol .
Siring: th ep + prep *+ NP

m arn A ememer e gt ¥
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We would diagram Jog talked sbout rocketp in this way:

:F’ v:’\) T~

st A\ rep nrep
Symbol i 2
String: NP + st + rep + prep. + P
Sentence \
String: Te + st\ + talk + abS:' + rocki:.
Sentence Jce taté' a rockets,

How can we show that a transitive verb may be a V: Prep?
Since this is another subclass of transitive verbs we wﬂf vffnt to change
rule (10, 2) to include this new subcless, The elipsis (, . .) must remain
in the rule, because there are many verbs of this class which are not
included in the four subclasses we have identified,

J tip *+ IO
Vtr prrt + Prt
| tprep* Prep

Exercise 2: A, Examine the following sertences and iabel the verb
o‘f gch. Give a reason for your choice,
t
Example: Bill gave his father the money,

This is an indirect object verb because it is followed by 2 NP's
and it can be made pessive in 2 ways,

-1, Jill looked at John,
2. Neil threw the ball-into the basket,
3. The girls flirted with the boys,
4, The boys kicked at the door,
5. The boys kicked the door out,
6, The teacher objected to the noise, '
7. The women gossiped with their neighbors,
8. The women talked about the movie,

o ——————
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9. The boys depend on their leader,
10, The deer struggled against the lion,
11, The old lady slipped on her coat,
12, The old lady slipped on a banana peel,
13, Little Jack Horner put in his thumb,
14, Jack Horner pulled out a plum,

B, Make branching diagrams for sentences 1, 2, 3, 5, and 9,
In order to save space, do not devealop the NP's,
Vihen the diagram results in a sentence which requires a
transformation to produce the sentence you started with,
perform that transformation,
Look again at sentences 11 and 12 which seem to bave th2 same verb,
The old lady slipped on her coat,
: The old lady slippe< on & banana peel,
Are these really the same verb? We can test them by trying to move
the on, Can we say '
The old lady slipped her coat on,
Can we say
. The old lady slipped a banana peel on,
So we see that the verb in the first sentence is Vtprt + Part, What is
the verb in the second?

¥/hat have you learned?

What ig the difference between a Viprep + Prep.verb and a Viprt +
Part verb? What is the difference between a Viprep ¥ Prep anda
Vidiy + Dir?

Exercise 3: Write two sentences for each of the following strings:
1, ﬁP * past + Vigrep + Prep + NP2

2, NP + past + Viprt + NP? + Part,

3. NP + pres + Vigre, + Prep + NP2

4. NP + past + Vipyt + Part + NP2

5. NP + past + Vig. + NP2 + Dir

Exercise 4:  Write symbol strings for each of the following sentences,

We will subscribe to the magazine,

The lawyer is looking over the evidence,

The manager will make you an offer,

The President called out the National Guard,

Keith gshould have advanced the bishop to that square,
The tractor ran over the log yesterday,

The teacher extended the deadline to Tuesday,

Maria has sung her father a song,

The cat had lapped the n:ilk up quickly,

The cousins carried on & correspondence,
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Cumuiative Review

A, Make branching diagrams for the following sentences:

1, Some butter was meiting on the stove,
2, The clerk has made out an order,

3. The sky became dark suddenly,
4
5

. The nurse will give you a shot,
« The classes have been having a contest today.

B, Write the kernel sentences which underlie the following, (Doukle
space your sentences, )

The children sneaked carefully through the haunted house,
Some birds have been killed by insecticides,

When will you have your big exam?

The juniors and seniors are attending school this week,
The girl's father called up the teacher,

The donations are being picksd up on Monday,

Crawford brought bread and pickles to the party,

The experiment called for sulfuric acid and sodium chloride,
The small mouse crawled into the snake's hole,

Snorky dragged the bone into the house,

Gerry brought ker mother a plant, -

I gave the report which I wasg preparing in tae library,

— bt et .
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C. Write symbol strings for the kernels you wrote in B,
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DETERMINERS
I, Introduction to the Student

When you last studied the rules that produce (or ganerate) noun

. phrages, you simply used a gymbol (T) to stand for thogse words that occur
infrontof nouns: NP -3 T + N + NO, Inthe unit that explained
Phrase Structur« Rule 13, it was pointed out that there were several inds
of determiners--that is, structures which occur in front of ncuns. The
most common of these determiners wars the, 8, an, and o me,

Although the number of words (or groups of words) that can appear
before nouns is not very large, dsterminers are one of the most difficult
pazrts of our language. In fact, one wiy that wa can tell whether or not
a person is a native speaker of English is by oblervlng his use of determiners,
Foreigners may often say things like the { ing: * Man in hat on corner
is father of John" or * "1 went to the Mount Rainier,” The proper use
of determiners is a rmajor problem for those learning English as & gecond

language,

Exercise 1: As an exercise to determine the importance of detsrminers,
rewrite the following paragraph, leaving out all the dsterminsrs
which you can find before nouns and adding determiners
to those nouns which do not now have them,

A boy stood on the corner waiting for & bus to pick him
up. He had an hour to get to Chicago. Some pigeons were picking
at crumbg in the gutter. The Loy had always liked pigeons o
wished he had food to give them, Suddenly a bus rounded the corner
scattering thz pigeons and screeching to a halt, A crowd of people

ot off and the boy pushed past them into the bus. As he rode toward
hicago he thouglit of the pigeons in the street,

In this unit, you will study some rules that show morse specificaily
what T can be in English sentences. T siands for that complex group of
words which can precede the noun in any noun phrase, But in the interest
of simplicity, we shall deai in this unit with only the most common
determiners: g, ap, and gome, These form a special class of
determiners called articles,

II, A Rewrite Rule for Determiners

Grammarians have usually called % %ﬁ:nd an “erticles, " " but the
word some has not always been includ group, However, since
some hias such a close relationship to botha and an, we shall include
some_ in our discussion of those determiners called articles, The reasons
for doing this will become apparent in the discussion which follows,

Which words are determiners in the following sentences?
(1) A boy locked at the candy longingly,

(2) Some girls in the classasked questions,

(3) The soldier ate rice and an egg.
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The words a, an, son:e, and the are determiners wherever they occur in
these sentences, Notice that they seem to occur regularly in front of
nouns. Why is therc no determiner in front of words like questions and
rice? Do you recall how this was explained in an earlier unit? You were
told that our grammar would be simpler if we assumed that the determiner
sometimes selected in front of words like rice (Npmasq) and guestions
(Nent + plur) was the empty set. In other words, we think of the NP

as being described by the rule NP -S> T + N + N° but we often

find that the symbol T is actually replaced by a zero sign ( ® ) in the
sentence string,

In this unit we shall try to be more specific about where the, a,
an, and some occur in English sentences, We will try to form a rule
which will describe T ina more apecific way., Before we do this, notice
what occars on both sides of the determiner in the following sentences:

(4) Ten of the last few trucks were overloaded,
(5) Many of the other mer: seemed happy.

Apparently many kinds of words may occur before the noun in the noun

phrase, Notice that in these two examples some of the words come before

the determiner and some come after the determiner, but befcre the noun.

We shall not try to account for words like '‘ten of," "last few,"

"many of, " or 'other” in this wunit, but we will want to try to explain

them in a later unit. Thus the rule which we write to expand T must be

written in such a way that we can add other items before and after the

simple determiners like the. Since we have seen that these simple deter-~

! miners, which we have called articles, are one kind of determiner appear-
ing in front of nouns, let us iry to write a rule to state this fact. In

' other words, let's write a rule that says that one way in which T (deter-

miner) can be expanded is as article, We will ugse Art as the symbol

for article.

For the present, then, let us rewrite T as Art., The new rule can
take the following form,

Rule (19) T --->  Art
Thus, wherever the symbol T appears in a string of symbols, you are
to rewrite it as Art, Later, we will add other items to this rule, since

it is obvious that other worcs besides articles can appear before nouns,
The new rule affects your branching diagrams in the following way:

P
//N‘
(Rule 13) T N\\NO
(Rule 19) A!:t
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Definite and Indefinite Articles

The symhol Art, then, stands for one group of items that can occur
as determiners. This group of items includes the words the, 8, an, and
some. Do all four cf these words behave exactly alike? Let us try to
find one or more characteristics possessed by some articles but not
possessed by others, Of, the four articles, which one can occur in the
following blanks?

fact that you like grammar pleases the teacher.
I did not like idea that you were alone,

In these and similar contexts, only the word the seems to be grammatical.
On the other hand, the is not grammatical in context like the following:

It is fact that you understand grammar,
The mob was met by mere boy.
mere boys provided opposition,

The behaves quite differently from the cther articles, Not only does
it appear in places where the other articles do not, but sometimes i
cannot appear where a, an, and some are perfectly grammatical, In
addition to this, we find that the gives g special meaning to those nouns

which foliow it. Look at the following pairs of seatences:

The man sat up.
A man sat up,

The airman locked lazy.
An airman locked lazy,

How would you like the rice?
How would you like some rice?%

In each pair what is the difference between the meaning of the noun parase
containing the and that containing a, an, or some? For example, how
does "the man" differ in meaning from "a man"? The noun phrase

"the man" dingles out a particular man, but “a man" is not definite

in gingling out which man is meant. In each of the other pairs of sentences,
we can observe the same distinction of definitenese (associated with the)
and non-definitensss (associated with the other articles), Thus we see
that 2 meaning difference accompanies the formal distinction previously
made between the and the other articles, The article the specifies a
particular one of a class of nouns, hut the articles &, an, and gome do
not have this powetr. We can charzcterize this meaning difference as

one of definiteness and indefiniteness,

dow can we write a rule that will distinguish between the article the
and the other members of tnis class? Remember that we are simply
rewriting the symbol Art which was introduced in Rule (19), We want to
show that in a NP, the article will be either definite or irdefinite, Using
Artges to stand for definite and Artiggg‘ to stand for the indefinite articles,

¢ \
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we can specify the two classes in a rule like thig:

p
—— Artgef 1
Rule (20) Art > tArtindefj

The rule states that articles can be of two types: the definite article
and the indefinite articles, We can devise an easy test for remembering
which kind of determiner is definite and which ones are indefinite, If
the determiner is grammatical in the following slot, it is the definite :
article: Mr. Smith is very one I meant, If it is not grammaticail
in this context, the article is indefinite,

Jur branching diagrams for sentences now have an additional possi-
bility, The point Iabeled Art can now be divided into two pogsible choices:
one would be marked Artjoe and the other Artirace I one type of

article is chosen, theotieT type may not bechoser The new diagram
follows:

/ "
T L\ N©
)
/’/A' r\
Artges Artinder

The following sentence shows how the rules would he applied:

Sentence: The rabbits eat rapidly,

7 \\VP
(13) T N N°

(14) thnt

(15) Nap

(16) Nz,on

(18) | plur
(13) Art

(20) Artdef

(Symbol Ari!i £ + NnE a ¥ lur + YP
string) ? 3 ()
(Sentence) The rabbits eat rapidly.
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Exercise 2

Draw branching diagrams like the one above for each of the following
sentences. Your teaciier may ask you to develop the verb phrase as well
as the noun phrase, or you may develop just the noun phrase, ag in the
example above,

The exercise should have been longer,
Some bees had been buzzing angrily,
A book can be expensive,

Tests may have become useless,

The purpose gshould be clear,

An excuse remains unnecessary,
Some fellows resigned immediately,

A rattlesnake lay there quietly,

The rice has been boiling slowly,
Z2uildings can become obanlete,

GO YN D W e
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III. A Little More about Axrticles
A, The indefinite article some

Among the four words we are diseussing in this unit, some presents
a probiem for us. Read the following sentences aloud:

Some water was spilled on the stove,

Some water has poison in it, but the rest is pure,
. Some boys walked by,

. Some boy walked by,

S O D e
- [ ]

The some in sentences (tland 3)is different from the gome in (2) and (4),
Fronounce (3) and (4) as you would ordinarily say them, What is the
difference? Try it again with another pair of sentences:

5. The teacher called for some girls as volunteers,
6. Some girls went in, others stayed out,

There is only cne reasonsble pronunciation for some in sentence (6);. it
should rhyme with come, Inthe sentence "Some boy walked by, "' it
sounds as if boy were a mass noun (like the name of a material) urless
you pronounce some the same a5 come, Try two more sentences that

contain some:

1. He put gome plastier on the ceilmg.‘
8. He put some boy on the ~eiling,

Proncunce the gome in (7) as you ordinarily would; then pronounce the
some in (8) exactly the same way, Both of them should rhyme with the
last syllable of blossom /bla sm/. This pronunciation shouid make it
sound as if boy were the name of a material like plaster, paint, or paste,
Clearly, we are dealing with two different kinds of some in sentences (L

through (8),

©
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Using the set of phonetic aymbols introduced in other units, we could
spell the some found in "'Some boys walked by'' as /s3m/. The little
mark over the vowel indicates that the word or syllable is not stressed
or accented in proncuncing it. On the other hand, the grammatical /

. pronunciation of some in 'Some boy walked by would be spelled /som/.
The mark over this pronunciation indicates that it should be stressed,

as in the word come, The word gsome in sentences (2), (4), and {8) sounds

like come, and it is not the word we want t6 concern ourselves with

here, Other rules coming later in the grammar will gspecify exactly what

this word is,

B, The lexical entry Artjpger

An important and interesting thing te notice is that a, an, and some

(= /sSm/)} are distributed in such a way in English sentences that where

one of them may occur, the other two cannot, Let us examine more
carefully how these three words are used,

Exercise 3:  Copy the following sentences and fill in each blank with &,
an, or gsome, As you do 80, try to decide what kind of
nouns each can occur in {ront of,

blood was smeared on thc door.
My friend brought me atlas,
That was my first ride on airplane,
! am taking home books,
He fell in mud,
beys broke the streetlight,
boy brought the paper, _
He was staring at crack in thie ceiling,
cracks appeared in the sidewalk,
apples were still on the tree,
11, The teacher sat at desk.
12, When we shouted echo bounced back,
13, mush was cooking on the stove,

'I)QOJCRPWNH
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What can we conclude from this exercise: First of all, a occurs in
front of nouns that begin with a consonant sound (g boy, a crack, a desk);
an occurs in front of nouns beginning with @ vowel sound (an atlas; an
echo, an airplane). Second, some {/s¥m/) never appears in the same
place that 8 and an do, That is, neither & nor an can appear in front

of those nouns that can take some:

some blood, but not a blood

some mud, not a mud
some mush not a mush
gsome books, but not a bocks
some boys not a boys
some cracks not a cracks
some apples not a apples

<ot aboen
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What kinds of nouns are hloed, mud, and gmgh? Since they are grammatical
in questions asking ''How much ?" all of them may be classified

ag mass nouns (Npy,), The other nouns, ?;g, cné and apples,
are count nouns ftﬁllowed by plural mmbe%o plur = books;

boy + plur ®* boys; crack* plur * cracks; apple + plur = apples,

. We can conclude from these examples that a and ar: are not

in front of either mass nouns or plurai count nouns. Scme, on the other
hand, is grammatical in front of both of these, None of the three are
interchangeable, Since a and an cannot appear in places where some

does appear (and vice versa), we simply say that these are different forms
of the same article, In front of N, and in front of Noyt + plur, this
article takes the form some; in front of other nouns, it takes the form

’ or an depending-upon the 1irst sound of the noun,

The name we give 10 the gingle article which appears as a, an, or
some is Art. . ., meaning indefinite article, How can we show in a rule
the contexts Mch each of the three forms occur? We want a rule
to tell us that when we find an indefinite article it will become an before
a singular count noun or some in front of other nouns. We will want
another rule to tell us that it the singular count noun happens to begin
with a2 consonant the an will become a. They can be expressed in this way:

(a) Artigyof —— an/ ¥n/ inthe context Nept + singular
some /8%m/ elsewhere
(b) an /nf ——. a /3] before consonant sounds

Since these rules reaily tell us something a2bout the pronunciation of
the indefinite article ir the sentence, they are called pronunciation rules,
{(Notice that the actual phonetic pronuncistion is included in the rule,)
These rules operate upon the sentence string, the string in which the
lexical choices (words) have already been made. They are really rules
which tell us how the words are going to be pronounced. For example,
when you find the items past + shall in a sentence string, you kncw
that they will be pronounced ghould in the final sentence, Past + see
will be pronounced saw. You have been applying such rules for some time
now as you have developed sentence strings into sentences, but you have
not specifically called them prormunciztion rules.

-Thus you will find the symbol Art in the sentence string, but
your rules (a) and (b} above tell your ce it by an, some, or & in the

final sentence, Rule {a) tells you to replace Art indef by the word an
when the next items in the sentence siring are Nﬁ* s% . If
something else follows Art; (e.g., N or ural), you
are to replace it with some /ssm/, Further, if you replace Kmr_é%g
ence

with an, you must write it as & when the word following it in
begins with a consonant sound fe. g., boy, girl, tack).

C. The lexical entry Artgar
Artder, as you know, means definite article, Like the symbol
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A this symbol also sppeara in the séntence string.. Therefore,

e need one more pronunciation rule to replace the syrabol A by
an actual word that we can say, You have found that the ddmtido

is the, We can show how it is pronounced in the final gentence in this
way: '

(c) Artg . y the /% /, or optionally /8I/ before vowels
Thus whenever you find Artges ina sentence string, replece it with the
word the in the final ge .- The word the is ususily pronounced
/%2, but many people say it as /#1/ (like the word thee} when the word
following it begins with a vowel sound (e, g,, apple, egg, ox}.

V. Coaclusion

As our rules are now writter, they are fairly effective in producing
; graminatical English sentenceg. For instance, ws are now prevented
j from producing ungrammatical sentences like the following: *"A water
! is in the pitcher” or *"An elephants roared loudly." A promunciation
, rule for Art; prevents occurrences of a or an in front of nouns like
‘ N 'my and elephants (N +

water ( p Enﬁ plur). Arty.e is chosen, then
the word Egsgould appear in iront of these nouns (the water, the eleohants).
If you wish to gpecify particular water or particular elgg?ﬁntt, you must
use the, the definite article; if you do not, you may use efinite
articie some. _

;i What are we to do about those nouns that pags the test for mass nouns

(How much __ __ ?) but sre grammatical with aor an? A is perfectly
grammaticziin the sentence "This is a wheat that needs careful cultivasion, "
Such sentcnces would seem to prove that the rule for pronouncing Artipdgf
1s not correctly formed, since it prohibits a from occurring in front o
mass nouns like wheat. The answer is simple. In such jastances, 2
deletion has taken place. A deletion is said to have taken place when
one or more items in a sentence have bzen taken out or suppressed.
or example, when a sentence with a transitive verb (Vir) is made passive,
the agent {or doer) of the action may be deleted in the finel sentence: The bullet
hit the target. The target wae hit (by the bullet), We may
include the wormnd within the parenthesss or we may delete them. In
sentences like "This is a wheat that needs careful cultivation, ' a phrase
such as kind of, sort of, type of, species of, etc. has been deleted from
between the word is and the mass noun wheat. In other words, a phrase .
like a species of rice may become & rice by a deletion of the words

species of,

(22) This is a kind of cereal that sticks to your ribs,we)
This is a cereal that sticks to your ribs,

(23) Iwant a type of gold that has a dull finish, =3
I want a gold that has a dull finish,

On the other hand, when we casually use a singular count noun as a

mass noun, the article a or an is omitted: "That is a lot of car." Perhaps
such an expression owes its effectiveness to the fact that it reclly is
slightly ungrammatical, Most of us would not consider Car to be & noun
that could fit into the context ''How much "

- \
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You must recognize that we have not yet discussed many different
structures which must eventually be identified as determiners. ¥You have
written rules that account for only the moat common determiners: the
definite article the, and the indefinite articles &, an, and some, Words
like my, all, any, each, and seven must also be accounted for in cur
rules, For the present, howevel, you can use the rules that have Leen
written, even though you know that they are not complete,

Exercige 4:
. Indicate which articles are present in the following sentences.

Write the abbreviation Art or Art; below each article in
the sentence, In thosesentences nouns occur with no deter-
miner - in front of them, d asyaihave been instructed to do pre-
viously: use the symbol ¢ to indicate that the set of determiners
chosen before this noun is the emyty set.
Example: The kittens drank milk from a saucer.

Artdes ¢ Artindef

. A cyclone tore the roofs from some houses,

. .The girls in class like dances beiter than the boys do.
. The gink held some water and leftovers from the meal,
. Some rice was thrown into the car by a guest,

. An axle broke and the car rolled irto a ditch,

B. Copy the following sentences and replace the articles callied
for with the proper worrd,
Example:

I found Artdot book on (Artgas) shelf. I found the book on the shelf,

(Artgef) librarian gave me {Artindef) card and I took (Artqes) book.
It was {Artjdes) book about dinosaurs.

(Artges) cook brought ua (Art;nger Rpples.

(Artind?f) apple (Artjngef) day keeps (Artgee) doctor away,

*

(Artges
(Articq0¢) flowers were left on
I had (ATtjngef) money left,
(Artinqes) avalanche destroyed (Arty.¢) village. :
(Artindef) officers were standing on ﬁrtdeg) corner,
(Artqes) school is-giving (Artindes) award,

voters rejected 1firt¢1e&2x l)talz,o)t tr;a!;asure.

DCSGQ-JSDO‘@QNH
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Exercise 5:
raw branching diagrams for the foillowing sentences uving only
those rules which develop the noun phrase. Remember to apply each rule
that ig applicable in the proper numerical oxder,
For example: The cat looked silly.
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(13) NO
(14) N,l;

(15) N

(16) N

(18) | s{Fg

{19) t:&-r
(20) Art g '
(Symbol c\\ l ' v J)

String) A}tdef + Nnon + si!ng +

{Sentence |
String) Artger* cpt + _ging +  Iooked silly
(Sentence) T‘xe cat looked silly.
A,
1, Some boys walked by.
2. The trenches are dirty and wet,
3. Some boys built a fire there,
4, An accident could happen.
B 5. A friend stopped in yesterday.
1, The ladder is here.
2. Some men were brought in,
3. An accident can alweys happen,
4. A truth is usuaily self~evident.
5. The trzilers were uncomfortable,
6. The man should find the money.
7. Some boys started some trouble,
8. Some soup might help, -
9. The evidence should appear conclusive,
10, The lamps should be practicsl,

fnae . 13
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Cunwulative Review:

Make detailed branching diagrams for the following sentences.

1., Sunshine was pouring into the room.

. The clags will put on & gkit tonight,

. Some cocoa would taste good,

The runner became tired easily,

The climber has been clinging to the cliff all night,
‘The sheriff ig at the scene,

. A traveler has brought us the information,

. The rangers had been having difficulties,

. Flattery will get you nowhere,

CDCO\‘!.O)U’&CDN

B. VWrite the underlying kernel sentences and symbol strings for the
following: '

Examples: 1, What are you eating?

T+N+p1ur+prx+be+m + Vtr+ T+ N+ N
] ) A s

You are eatmg @ sométhing.
2. The orange car hit the post. g
Artder + smg‘*' Wtr*’ Artger * N ’+ smg;
je i post.

+ N,  + ging + pres *+. Be + Adj
ef i
'&me q\cﬁ'r/ is orange,
Who has bezn sleeping in ray bed?

Is Jerry taking the new math this year?

My friend the cop asked me a questicn,

Math and science are required, in our schooi,

Where have you put the keys?

Black bugs are crawling into the woodwork,

The car on the street has been painted recently. :
We have called the policz and received their permission.
Bill's racket belengs to his roommate, :
The old costuraes ace hanging in Mary's closet.

L) [ ) L)

[y
®

C. Show the treasformations the underlying kernel sentences which
you wrote in B must go through to become the sentences listed.
For this part of the exercise use NP rather than the more detaiied

striags,

- —n—
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Example:
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Q+Np+pres+/be+ + tr+l‘\Pz-
Yo are eating something
by T '

Q*prx)e*N/P*in\*Vtr*t‘Pz

Are something
by wh-attachment

Q + preg + be + NP + + Vtr + wh-NP
{) { in(/ '
tAre

you eating what

by Twh

Q + Wh-NP + pres + be + NP + ing + Vir
What re you eating?
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MORE ABOUT QUESTIONS

A grammar of a language is & set of rules (or statements) which
describe a language, If the rules are written so that esch rule depends
upon a rule that has gone before, and if one can end up with sentences of
the language by following the rules through in order, then the grammar is
a senerative grammar, This ie the kind of grammar being developed in
this course, You probably remember exercises in which you “generated’
sentences by applying the phrase structure rules, You may want to iry
it again from time to time, It is 2 good way to test the rules, becauss 4
the rules aren't accurate descriptions of the language, or if there aren't
enough rules, they won't always produce grammatical sentences,

If we could write enough rules and make them precise snough, our
grammar would always produce the gramimatical sentences of our language
--the kind that as native speakers of the language we use without thinkirg,
Although we can probably never write all the rules which would be necesgsary
to account for all the sentences we can speak, our goal each year is to
make cur rules more precise and to try to make them apply to more
and more sentences, As we become more precise in our,rules, and as
we discover more relations between various parts of the sentence and
between kinds of sentences, the more we will understand about our

language and how it is produced,

Yes~or=No Questions

Although we have developed sorae rules to show how questions are
formed, we have not yet accounted for all there is to know about questions,
For instance, although we have rules which show how questions are formed,
we have no rule to show why they are formed, In this unit we will try
to learn something more about questions and to make our rules about them
wore precise, Look at the following pair of sentences and decide

aow they differ,

The team wor: the game,
Did the team win the game?

You know that the second sentence is a question, VWhat kind of a question
is it? And you know also that questions are formed by {ransformations

of basic symbol strings. What is the symbol string which has be2n trans-
formed to make this question?

The string of symbols for The team wor the game is
Npl + paq\‘l’ Vir + Np

The team won the game,

You have learned that the same string of symbols underlies Did the team
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win the game? but that it has been transformed by 2 question transformation:
NPl + past + Vir + NP2 =3
past + do + NP! + Vir + NP2

> b
Did theteam w the game?

As far as you know the Phrase Structure rules operate in exactly
the samne way to produce both sentences, This means that the two
cencences have the same underlying structure, But is this true? If
you were asked to diagra:n the following sentences with the knowledge
j you have now, you vrould probably construct the same underlying diagram

for both,
Skateboards are a fad. Are skateboards a fad?

, / S\\. N.P/ s\VP
| NP VP . PN
} Aux Verb
| AuZ Verb lx ‘
f | \ Aux, Be *+ Pr
} : ATXI Be + Pr | ‘
' - " Tas NF

Tps NP !

I pres
pres
NP + pres + Ze * NP

A R

Skz';.‘t\aboards are a fad Skateboards are a fad,
Then for the second you would apply the yes-or-no question transformation,
Skatebesrds are a fad, ===$ Are skateboards a fad/

Such an explanation, of course, accounts for the very close relation which
there seems to be between the two sentences, But the Phrase Structure
rules do ngt explain the difference between the two, They do not tell

us why NP+ Aux + BetNP becomes a declarative sentence in one case
and & questinn in another,

Ve have assumed that the transformation into a question was an’ o
optional operation which we cculd apply if we wanted to, There is nothing
in the string to tell you %o perforn. it, But if we could fird a way to show
in our rules whether or not the question transforination shou.d be applied
we would then be showing why., If we could insert in the Phrase Structure
rules underlying the string a Question element to indicate that it should
go through the question transformation, this element could then trigger th
transformation, In other words, the question directicn could be indicated
when the sentence wag being generated, In this way we could let the
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Fhrase Structure account for both the similarity and the difference in
declaratives and questions, They would be alike in every way except one,
The question would have an element to indicate that it should be trans~
formed into 2 question, Since this Question element would affect the
sentence as a whole, it should be in the string from the beginning, The
first phrase structure rule, then, is the logical place to show that a
sentence has this choice, We will, therefore, add the symbol (Qj to

Rule 1 to show that Sentence can become a question, So the revised rule

will read
Rule (1) Sentence - (Q) NP + VP

The parentheses indicate, of course, that at the beginning the choice is
optional, We choose at that point whether we are going to make a sentence
2 question or not, Now let!s see how this new element will fit into a
diagram, If, when we apply Rule (1) we do not choose (Q) the diagram
will look like the diagrains which you have been making, For example

the diagram for The team won the game would be:

And the symboi . .
string would be: NP + ' + Vir + NP

Zut if we choose the element (Q) we will have to show it in the diagraim
in this way: '

[

Q + NP ' + Vir + NP

What dees the Q in the sentence etring mean? It simply means that the
string must go through the question transformation because @ has been
chosen in Rule 1, The Q triggers the transformation, This transformation
is the yes~or -no transformation which you are already familiar with,
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It is called TQ.

4N +Past+}+NP2 ( )
becomes
e(m—e =§by o)

Q + theteam + wWon the

Q+Pa<+do+t;’!P+Vt§:+ 2
Dl(/)the tedm win the game?
Now you can see that the underlying strings for the two sentences

The team won the game,
Didi the team win the game ?

are the same except that the second one has 2 Q, In fact, the underlying
string for any question is like the string for a declarative sentence with
Q as its first element, :

Review of yes~or-no transformations

Let us review Ty (the yes-or=-no question transformation,) You
remember that it is the basis: for all other question transformations.

Exercisge:

Write the symbol strings for the following sentences, Then turn

them into yes~-or-no questions and write the symbol strings for the
questions,

A,

[y
'Y

The birds will fly ncrth soon,

I can give the report today,

The Loy should lock the bicycle,
I must pass the exam,

They would forget,

O i N
o o o

Terry has given blood, -

The chimps heve learned a language quickly,
A plane has landed in the driveway,

Sorme people have built shelters ir: basements,
The superintendent had been {11,

The fish is dodging the hook,

Frea was a girl,

The children we ve walking in the cement,
I am going with you, :

They are flying to Eawaii,

Gt e QOB s
® o o o @

OV B OB
S e o o o

Earwigs ate the shrubbery,

A leprechaun came out of the hole,
She baked a pizza,

Joel drives dangerously,

The sicunk discouraged him,

Q‘ltb.OONH

*




-46-

In the sentences in group A above, which eiements changed places with
the subject NP to form the guestion?

In group B, which elements changed places?

In zroup T, which elements were involved? Does it matter whether the
Be is an auxiliary Be or the main Verb of the sentence?

In the sentences in éroup D, what element moves to the front of the santence?
v/hat must be added to form the yes-or-no question for this group? Why?

“’re rule for Ty has been symbolized in the following way. Try to
>rpiain why it was written in this way and what it means,

-

‘I‘Q i

héve +ococ#

be

>

M
have +NP+.00
be

L

You may remember that if neither i, have, or be occur in 2 sentence
strinz, then Tns moves to the front alone., This produces Tns +
+ NP in the transforined string, The empty space ( ) indicates
that when Tns moves up ahead of NP there is nothing for it to attach
to, since it can't atiach to NP, Therefore, it becomes necessazy to
add do for 1 ns to attach to, We will eventually want to write a rule
for this operation, because it is a separate step, but for now, we will
just a2dd the do when we are performing the transformation,

. Now that we have placed Q in the underlying kernel sentence string,
it will be neceseary to reformulate our rule for T so that @ can be
included, With the addition of Q the revised transformation will look
like this:

T

)
Q + NP + Tans + ,h:ve’)"‘... =3

M .
Q+t Tns*+ |jhave + NP,..
be
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(Note: When [ ] are used in a rule like TQ they mean that the items
within one set of brackets line up with the corresponding items in the

other set, In other words, if we have M in the string on the left of

the , then the transformed string on the right will also have

M, If the string includes have as the first word after Tus tien the
transformed string will also include have as the first word after Tns,

The bracket | 7]  is, thus, a very useful symbol, Like all the symbols
we use, it is a very simple way to show a fact that waild take many

words to explain, )

We can conclude that when we see a yes-or -no question it has an
underlying symbol string like the string for its corresponding declara-
tive sentence, but thai it has a Q at the beginning which means that the
string must go through Ty (the yes-or-no transformation),

Exercise;

Write the underlying symbol strings for the following s:ntences,
For the questions show how the TQ op=srates on the underlying
string to produce the question,

Example:  The bird sang all night, (NP + past + Vir + Tm) .

Q
Did the bird sing ali night? (Q + NP + past +~Vin:=;
+ Tm

past + do + Nf'i'Vin‘ﬁ'Tfn

}( the bird si}ng all night?

A, 1, The boys are sparring in the gym,
Are the boys sparring in the gym?

2, Jeannie dyed her hair,
Did Jeannie dye ner hair?

3. The advisor has called a meeting,
Has the advisor called a meeting?

4, You will be sorry,
Will you be sorry?

5, The elephants are eating peanuts,
Are the elephants eating peanuts?

Will you pass the potatces?

The climber fell into the crevice,
Did they reach him last night?

He has seen the report,

David composgses music easily,

Has the band 1e2arned the selection?
Should we decorate the hall?

a3 O) U1 o QO DD e
[ Y ® & @& 3 o
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C. Write possible sentences for the following underlying symbol
strings, showing how Q triggers a transformation,

Examples: 1, NP + pres + + sipg + Mjm
foe ir will slg Guietly,

2.Q_+NP+pres+M+sing4'Mdn ==Q->

Q"'p:‘esi'M'!'llP'Psing'i'MZZ
W\i.(thec oir six'zg quiktly ?
NP + NP + past + write + NP

Q + NP + past + write + NP

NP + pres + have + en + Vink + Pr

* NP + pres + have + en + Vink + Pr -
* NP + past + be + ing + Vir + NP + Man
+* NP + past + M + have + en + Vin + Man
P + pres + Vmid + NP

P + pres + have + en + Be + Pr

S
OOH
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Review of Other Cuestions
R S e e et e et

The symbol Q in a sentence string tells us that the string must go
through a transformation (TQ) to produce a yes-or-no question, This
kind of question is really a sentence question, It asks if the whole sentence
is or is not true and § is what makes the difference between the declara-
tive sentence and the question, The difference between

The boy eats goldfish secretly in the kitchen at night,
Does the boy eat goldfish secretly in the kitchen at night?

and

is
But, as you know, there are other kinds of questions, We can say
What does the boy eat secretly in the kitchen at night ?
When does the boy eat goldfish secretly in the kitchen?
Where does the boy eat goldfish secretly at night?

How does the boy eat goldfish in the kitchen at night?
- Who eats goldfish secretly in the kitchen at night?

'D‘lvh.CA)NH

And your intuition tells you that all of these questions are somehow
related, How are they related? Notice that with the exception of the

last one (which we will discuss a little later) they all include ", . .

does the boy eat, . ." What transformation produced , , . does the boy.
€at. . « ? The first thing to remember, then, is that all of the questions
are transforms of the same underlying string and have aii gone through
Tg. This is how they are alike,
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T"’ +pres+Vtr*N2...
T:
\ ~ =9,

Q The boy eats goldfish, . .
Q"'pr\e\s}doi' T + Vir + NP2, ..

Does the oy eat goldfish, . ,

How do we account for their difference? . The first thing we notice is
that each one begins with a different question word, and in each one
something has been ieft out of the original sentence,

In 1, what appears and goldfish has been left out,
In 2, when appears, What has been left out?
What appears and what has been left cut of 3, 4, and 5°?

Can we assume that the question word appearing at the beginning of each-
of the five sentences is a replacement for the word left out? How has
this happeaed ?

You may remember that the symbol which means that a question
word is going to appear in the place of a particilar gsentence element is
wh. By attaching this symbol (known as wh-attachment) to an element
in the underlying string, we can show what element is going to become a
question word, When an element bas wh attached to it, it becomes &
questionword in the sentence, Thus wh-NP2 becomes whom, or.what.
We say that wh=-NP2 ig pronounced whom or what, The rule which Sives

ue this information is called a pronunciation rule, Such rules tell us
how the sentence siring becomesthe sentence,

Thus: wh-NP? y whom/what
wh~Tm ——\ when
wh-Loc ——-3% where
wh-Man ——% how

71wholwﬂwm

Practice in recognizing kinds of questions:

The kind of answer you can give to a question will help you decide
what kind of question it is, Yes~or-no questions can be answered by
yes --or--no.f Thos2 which questi‘on a single element in the sentencehwi}l
have one of the question words {what, who, whom, how, where, when),
It will be useful to remember how these worde are ‘derived for that
will be a clue to what sentence element they replace, That is, since
where is derived from wh-Loc you know that where replaces a Loc

in the sentence string, V/hat do the other question words replace?

Exercise 3:
ange the following sentences into questions by gubstituting question
words for the elements underlined, ’

©

l w
IC
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“ e mpmamme v v

Example: Joe is singing in the shower,
Who is singing in the shower?

The cat was sleeping in 1'_1;1_9_ attic,
Where was the cat sleeping?

Martha locked the door quickly.
Martha locked the door cuickly,
She ran upstairs.

Bill called the police. :
Bill called the police at eight ofclock,

The hulldozers began to arrive early, ' '
The bulldozers are moving the hili,

The contractor has a bulldozer,

The workmen have arrived at the yard,

They will remcve the bomb carefully,

e & o ¢
L e
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Exercise 4:

Mzke up answers to the following guestions, Indicate whether each
is a yes-or-no question or a wh question, In the answers to the

wh questions, underline the eiement which you have supplied for the
answer and indicate what element it is in the sentence,

Examples: Are you going to town?
Yes, Iam going to town, (Yes~-or-no question)

Who is providing refreshments:

2 The teacher is providing refreshments
--({subject NP)

What is the cook baking?
Who is your best friend?
When is Helen going to camp?
How does the Cocvair run?
Who turned off the lights?
“Whom have you contacted?
How are the Dodgers doing?
What was crawling down the hall?
What will the orchestra be playing?
What are the boys bringing?
/ho has left thumbtacks on the chair?
V7here have you put your glasses?
. What do the penguins eat?
When will the report be due?
Where do the Beatles live?

e » © o
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te Now let us return to the five questions with which we started this
; section, {p.7) .Remember that we have found that each has gone through ;
Tc, What else has happened to them? In 1, wh has been attached to j
NP2, It becomes what in the sentence., This is the wh-attachment ' :

» transforrnation,

St CAMVRR MR ATAATL v wessmaa e o

e e e 4 s it e e

&y




-51~

# pres + NP + Vir + NP2, ,,
r P e ._‘_—_}
Does the boy eat goldfish, , .
pres + ____ NP + Vir+ Wh-NP2

=
Does the boy eat what, . o &

’ @ ¢

In 2, wh is attached to Tm (at night),
pres * NP+Vtr+N2...T :_..____‘.'.:)
Does  the boy eat goldfish. ., ,2t night

pres + NP + Vir + NP? ¢ o ¢« WheTin
~N2 N ) L \
Does the boy eat goldfish, . . when,
In 3, wh is attached to Loc (in the kitchen),

Pres\"’ I}IP'*-\?tr*'I:fz...LKc... -.—.=)

Doe/ the boy eat goldfish, , in the kitchen. . .

| &es/the

In 4, wh ig attached to Man (secretly),

preg{/ Nf-t-vzr +d?1=2 + Mfa_n.,.' —

Does the boy eat geldfish secretly, . . .

pres + jp + Vir+ NiPz . . . wh=Loc. .

oy ea{ goldfish, , , where. .

prgs + | NP + Vtr + NP® + wh-Man, . .
}bé the Loy eaL "geidfish  how , . ,
In'5, wh is attached to NP1 (The boy),

pres\':__;__Nr + Vt<» + Nf‘z. « o | __%

o€s the boy eat goldfish
2

preg ¥+ ___ wh-NP + Vir + N ...»
ST o sl

Does who eat goldfis

So, when NP2, Tm, Loc, Man, NP! occur in an underlying string

which has been through Ty they can each have wh attached to them, This

indicates that they will become a question word, Earlier we symbolized
- this transformation by this rule?

#(Notice that in each of these five sentences it is necessary to supply do
when the question transformation has occurred, )
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T
wh-attachment

NP2 NP?

Tm Tm
> e o @ Loc ooo# oooWh Loc o o o
. Man Mar
' NP1 Np+
e Putting all of the symbols in braces in this way makes it possible to write

g | one rule instead of five, VWhat does {. . .) stand for in the xule? With

-8 the knowledge we have of the use of how can we improve this

; rule to make syre that if NP2 is the elemeft being questioned, it will

- become wh=-NP¢ in the transformation? And that Tm will become wh-=-Tm?
| Brackets, of course,mean just that, They make sure the item on the

left selects its corresponding item on the right, If we add them to the

. rule, it will look like this:
; - - ~1
NP2 ( Np2
Tm Tm
o o o Loc o 0o 0 # o 0o @ whe Loc e o o
Man Ma?
\Npl‘ NP

‘ There is one other way in which we can make this rule more accurate,
N This transformation ig restricted to strings which have gone through
. To. What is the symbol which mesns that a string must go through Tg?
- By including Q in our rule, then, we will be saying very simply that this
: transformation operates only on this particular kind of string--one
- that goes through Tq. So the final statement of the rule should be:

T b
wh-attachment - - 1
NP2 ] vp2]
* a. Al 0 T
% o o o C P e e o Whe Loc
: - Man Ma
NP1 ‘ NP

The wh-attach:nent transformation tells us how a question word gets
into the sentence, But it produces strings like the foilowing:

Q + preg + + NP + VS’ wh\NPz
*Does the boy t what, . ?
Q+ pres+ ___+ NP + Vip + N‘PZ

l

*Does/ the boy eat goldfish, , . when?

e o ¢ Wh=Tm

] We wouldn't accept these sentences as grammatical, In questioris which

L are grammatical, where does the question word appear? We reed, then,
- . an additionzl sransformation to move the wh word %o the front of the sentence,
This is the transformation we have called T, , because it involves moving ;
the wh word, If we let the usual sign (, . . ¥ indicate the part of the ;

-
C e AR A sl M S SNV Wy vt mreionan +
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sentence string which comes before the wh word we can show this trans-
formation in the following way, We will, of course, include Q because
it is the thing that tells us that this is a question string,

- . eeie . cnes tave e

Twh [np? (NP2
aQ " Tm a Tm
e o » WA~ Loc "-": whe Loc + o ¢ o
el Nt
ng{.J than.

e 4 cwmtee s

This ruvle tells us that when we have a string like
Q+ pres + __+ NP + V?r + NP2, . . wh-Tm N

*Dbes the boy eat goldfish, , , when
2

it must become Q + wh-Tm + pris\ ¥ + NP+ Vir + N
/ .
Whlen does the boy eat the goldfish?

Sentence 5 in our example sentences needs a bit of explanation,
The sentence we are using as an example is one in which Tns is not followed
by M, have, or be, The verb itcelf carries the tense {pres + eat
eats) You may remember that Tg tells us that in such cases Tns moves
to the front of the sentence by iiself and we add do to make the sentence
grammatical, (The boy eats goldfish Does the boy eat goldfish, )
When we attach wh to NP4, Tm, Loc, aﬁﬁhn and bring them to the
front of the sentence this structure remains just as it is:

Whatdoesttnelggeaf. oo .

$hen does the boy eat, . ,
here s the boy eat, , »

How does"ﬂ'te Y eat , « »

But when we bring Who to the front we get "Who does eat goldfish, . ," |
which is not the way we ask a simple subject question,

You may remember that if we do not add do until after the T, trans-
formation which draws the who to the front of the sentence, our problem
i8 solved, When the who goes to the front pres is again left next to the
verb and we get

Tw
- . pres + wh«NP + eat + goldfish é
. wh-NP + pres + eat + goldfish
\~

A % A S A Ao A Ban A

Who - eats goldfish , , ,

So it is importaat to remember to add: do as the fjpal step in the question
transformation,

Htvain
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Summing up

Wh attached to any element in a symbol string which also contains
Q tells us that that particular element is going to appear as a question word
at the beginning of the sentence, In other words, wi calls for a particular
kind of transformation and a wh-guestion is one that has gone through
this kind, What are the steps of this transicrmation?

First, the symbol Q at the beginning of a sentence string telis us
that the string must go through the yes-or-no question transformation

(Tg) ‘ 5
i G{"' NP*pres*ﬁve‘*‘en‘*' Vir + NP
Q + Freddy as yght a sx{mke

This transformation cails for moving tense and M, have, or be or moving
tense and adding do to the front of the sentence,

Q + pre\'*' have + NIP + en ‘*'}r + Nle
Has Freddy c&ght a snake?

Second, if the symbol string also contains a wh-attachment, it must
then go through another transformation which first substitutes a question
word for the element with wh, and second, moves it to the front of the

sentence,

For example: "What has Freddy caught”" would be producod
by these steps: :

Q + NP + preg *+ have + en + Vir + wh-NP? T
N B2 Ng oL Iy

Freddy has calfght - a shake

Q + pres + have + NP + en + Vtr + Np2 Twh~attachment

} S F'red,dy - caught : a snake?
Q@ * pres + have"*' N‘P- +. en\:}r + wh"-iNP2 ggg)
' \}a{ ' -" f‘reddy' caught ’vlré'at? o
Qi+ wh-NP® + pres + have + NP + en + Vﬁr
'\'Fv"r}a’c’ - 7 . has . Freddy caught ?
Perform whatever transformations are called for by the symbols in

the following sentence strings, and then write the guestion which
Wm r eSlﬂto S
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- Examples: S . .
o - - T 3
I, @ + wheNP + past + break + the window + last night "-Q-'% .
'Q *-past ¥ wh + NP.+ break + the'window + last pights ¥t | .- B
}. Qi+ ﬁh{-ﬁp + past + break -+ the window + last night, : )
. " Who .. brife .- the window  last night ?

- 2 Q@ -:f'_. The by + past + bresk + wh-NPZ + last nigﬁtn g%é;
- - Q.+ past + ___ - + g;hé boy + break + ivhfﬁpz + last night.;l];
‘ R - Q+ -wh-NPz- + past + do + the oy + break + 1a mght.
Wit Lodfd’ | mxo

y  bréak last'night,

B PV v P S i o

the boy 4 past ¢ steer + the boat ¢ skilifully | .

1, Q4
| 2. Q¢ the $boy ¢ past 4 steer + wh-NP2 ¢ skillfully, . _
§ 3. Q 4 The monk ¢ plural ¢ past $ engrave ¢ the manuscript 4 wh- ]
4, @ ¢+ wheNP $pres 4 be 4 ing + whistle 4 in the park. P
5. Q¢+ The bird + sing + be + ing 4+ whistlé +wheLoc
B 6. @ +wh-NP ¢ pres + have ¢ en +arrive ¢ on time, N
; 7. Q 4 The grardparents + have 4 en 4 arrive £ vzvh*Tm.
. | ~ 8 Q ¢ The move ¢ sing ¢ past 4 amuse ¢ wh-NP2

Exercige 6: :
Write the underlying string for the following and show what trans-
formations each has gone through to produce these questions,

T ek s e b s ne

Example: . What have you cooked today ? .
 wel o+ n o 2 - -
. Q + NP” + ‘have + en. + cqok + wh-NP + Tm . {To) : g
-\ , dl _ ,—_-Q% :
You have cooked what today,

Q + pres +/have + Np! + en ¥+ cook + wh-NPz. +* Tm (T,

L g

Have - you cocked - what today,

Q"'Wh'gfj‘*'PreS'*have*'N?l‘Pen'i'}ok'*"'rm r
X

R

What ve you. sooked today ?
1, Has the boy finished the model?
2, What has the boy finished?
3, When will we go to town?
4, What did Mary find in the basket?
5. Who is running around the track?
6, Whom has the girl invited?
7, Where is the chalk?
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5. How does Joyce wrhe? %
8, Who has been using this typewriter? i
g 10, Will the government refund your money?
- : ..CumuIat;sre review: . .._ S - o :
: Write the underiying kerne}‘.s and symbol etrings for the . ohowmg eentences oW
T and show what transformations produced them, - . ' ?
;I Ehmm;_:le: E Large "lowers grew in the yard. g
... . - Flo ers' grew .intheyard A B i
Flowers. are large- ‘ ‘ 2
: 3
NP‘*'v.h-NP*pres'l' Be'!'AiiJ‘Ppast*'V +Loc . ’ Z
- . .o . . Flo'\\vers which’ ar ' large grew in the yard; f _ §
: L v : T : :
NP + Adj+ past+ V;+ Loc o 5;
. | Flowers large . gMew inthe yard 7 - ‘ ‘
f | Adj + NP + pagt + V; + Lec ;
! ' : L§ge flowers grew in the yard, ; £
; _ 1, The new teacher has given the class a hard assignment. ! F |
, 2. Cherries and peaches make good pies. ' |
; 3. The girl who finished first is a senior, i {
: 4, Who caught the bride's bouquet? | .
f 5. When has the yellow house been painted? i
2 M
i
N |
N B
E )
i. .
. N i
| | BN
i ! :
; { 13
: ! g :
| N i
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THE NEGATIVE -

_ Seme of you msy have noticed that the sentences you have been analyzing
80 far in your study of grammar have been sentences like '

The students have been studying,
. The catispurring. .. .- . -
--. The meal was good, _
The-boat his hit the dock,
_1 found bats in the attic,
- You paid attentior,

" You have nat analyzed sentences like

The students have not beén studying,
The cat is not purriag, - . -
The raeal was not good, .
Thé-boat has fiot hit the dock,

i did not find bats in the attic.

You did not pay attention,

V/hat is the différence between the two groups of semtences? The seeq)nd
‘group of sentences is said to be negative, What makes 2 sentence negative?
The sentences in the second group above contain the word net, The.addition
of some form of zot is the simplest way to make a sentence negative,
‘But can not be added just any plade-in the sentencz, or is its position impor-
tant? The purpose of this unit is to define the position of not in sentences
and to try to find a rule which will explainhow gentences become negative,

Exercigse:
Ingert the word not into each of these sentences witi.out changing .
the original sentence in any other way, Then construct symbol strings
for each pair of sentences. (Use Neg as the symbol for the negative word
that you have inserted.) Notice the position of not in tne asevnd
example, Why is it placed before ing in the negative string? In
\gahat ‘?t'aer transformations do we separate ing from be and en from
ve? - :

. Exampies: 2 - L o
N+ pag +%+Vtr+NP NP+ pagt + M + Neg + Vir + Nfz
rugs ght cure him Drugs ght =ndt cure him

~

NP + pagt+ be+ ing+ Vir+ NP2 NP + past + be + Neg +
le ;irl §v£ playing the h!mp = th}girl was not
" ing + Vir + NpP?
playing the harp.

1, Tom is going.
2, The driver could explain the accident.
3. Ihad made an A in history,




e ——— - e e T e+ e cmmm— .- B e et p——————— @ - — e
-

-58<

4, Basil would meet the requirements,
5. This has solved our‘problem.
6
7

. The boys will go to the game.
. Alice was attendmg the play,

a -

. Whn.h of the negative sentences that you Wrote m the pref.edmg exercme
. . are grammatical? .

Where chd you place not in these sentences ?
Does it always go in the same place"

Cquid you shift not to another posmon in these sentences and still have
grammatzcal sentences" . -

Perhaps a compamson of. the symbol sf,.rmgs for the senterices wzll help
you see the answers to these questions more clearly, Your symbol
strings hould look like this:

1, NP+prest+be +ing+Vin NP + pres + be '*'Neg‘i’ ing + Vin

2, NP+past+M + . Vir+NP2 NP+past+M + Neg+ Vir + NP
" 3.. NP+ past+ have+ en + Vir+ NP2 NP+ past + have+ Neg+ en + Vir + NP

4, NP+pastt+M + Vir+ NP2  NP+past+M_ + Neg+ - Vir+xNp
- 5, NP+ pres+have+en + Vir+ NP2. NP+ pres+ have + Neg"' en + Vir + Np

6. NP+ pres+M + Vin+ Loc NP+ prest M + Negt Vin+ Loc

7. NP+ past+be .+ ingt Vir ¥ NP2 NP+ past + be + Negt ing 4 Vir ¥+ NP

Where does Neg come in the symbel strmgs?
What part of the auxiliary does it follow?
Does Neg appear here in any sentences that lack an auxiliary verb?
Does it matter whether the tense is past or present? Which paits of the
strings on the left are identical with those on the right?
Which parts are not involved in the addition of Neg?
How can we summamze what these strings reveal about sentences containing
Neg?
Sentences 2, 4, and 6 show that
NP+ Tns + M + rest of sentence =} NP+ Tns+ M+ Neg + rest of

sentence,

According tc 3 and 5, -
' NP+ Tns + have + rest of sentence szm=—=Sp NP + Tns + have + Neg +
rest of sentence,

BN e A AT A S AE S4TSR ANE Bkne ¥ 4 mA -

In Sentences 1 and 7, be appears as an auxiliary, producing these strings:

NP + Tns + be + rest of sentence ==; NP+ Tns + be + Neg + rest of
sentence,

o ——

Or put another way, we can say

1, That not can be added to sentences which contain ar. 1, a be, or

, ' a have to produce grammatical riegative s2ntences;

2, That not occupies a fixed position in a sentence, coming into the
negative string directly after the M, be, or have; and

3. That the addition of not doee not cause any rearrangemernt of other
parts of a sentence because it is simply inserted after M, be, or have.
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. Written in symbols, a summary of the evidence we have &t this point
- would look like this: - : "

) QQQTM*MOQO.g Ocshsq.M.‘.Neg'QQC'. ;
Lt ai s Tos ¥bewy ) == ., Tns *be +Neg .. | |

.
1 TP ATt Tm Uy 0P O 0 SRR MY Y A et e 1
. N .

E ¢ o0 Tn. + hl’?e.".'.-ﬁ e o 3 Tns +h‘ve "'Neg{. ) ‘_' ) ; &
. " Thig gives us some conclusions to formulste, in part at lsast, a rule that JIREN
. accounts lor the simple negative, - - R
frwsm ) - ffewemem])
: ..0.00 Tm."b& ) ‘e e 0 *;._———ﬁ‘,'.." I‘Tm"tbe"'wt > 2 » ’ _;
~ {{%ns + nave|} [ |Tns +have #motl] - .
Why de we use the symbol , , . before and after the braces? What |
does the symbol j mean in this rule? Why is such a- 1 neces~ o

. sary? Can you of any other situation in which Tns + M, have, or be
- form & group because they behave in the same way in a trai':';formation g '

'Is this rule adequate to explain all sentences containing not? Thus
far we have tested ot in sentences containing M, have, or be. What
huppe;xs when we add not to sentences which have no auxiliary except -
tense I '

Exertggl‘e 3; : . |

_ ry to insert in these sentences without changing the original ' *

¥ sentences in a%oﬂmr way. Then try to construct symbol strings for
the pairs of sentences, using the symbol Neg, to stand for not.

A ey
e iy T

Example:  The boy broke the window,

NP + past + Vir + NP =
The boy broke the window

; o NP + pasgt + Neg + Vir + NP

| S N N [ |

; _ _ : The boy 2 -nbt break the window, .
‘ The child became

The child was {11

The paper cost a-quarter

Jack picks strawberrieis reluctently

I am your responsibility
» The candle glowed dimly in the dark,

OV €0 69y

4 m erme s e r——-

|

!

! Which of the negative séntences that ye:x have constructedzre ' .

; and which are not? “What kind of verb do the grammatical ones have? .
j What can you conclude about the kird of verb which can become negative N -3
E simply by the addition of not without the support of M, have, or the
|

|

|

T e B .- © e m se————————— - - p— - -_..._‘. ———— - e ————_——




-60- -

- auxiliery be?” Again we have evidence that the verb Be behaves in a -
way different from other verbs. - . |

~ Vrhat kinds of verbs do you find in the sentences whick became un~ .
- grammatical when you added.not? -- (Remember that we are talking - .

~ about sentences which do not contsin M, have, or the auxiliary be.)

" Loock agin at sentences 1, 3, 4, and '5) What word wouid you automatically
. 8dd with not in these sentences to produce grammasical negatives? In .

- 3entences with M, have, or be, the not wes placed immediately after the

M, have, or be. Where ig it placed in sentences 1, 3, 4, and when they
becoine grammatically negative? From this exercise we can see that, .
whereas the verb Be + ng; produced a grammatical negativé, the other .

- kinds of verbs (Vink, Vmid, Vtr, and Vin) require the addition of some

: form of do when nof is.added,” NN ‘ T :

A comparison of strings of grammatical negatives with those of
nongrammatical negatives, such as Sentence 1, will show cieariy why this
happens. Study the foliowing sentences, :

1" NP HThs + pe + Neg\* ing '+ go * rest of sentence -
be + not - \ /pa f , :
' : : nct/ ° go

is
+ M + Ne\ + explain + rest of sentenca

™ +n R §
not/ explain the accident,

have +m 3, NP +{fns + have *76 +.en * make + rest of scntence
| d not de @n A inhistory

4.. NP +{Ins + Be + Neg + st of sontence
B The p& a2

Whenever be, have, M, or the verb Bs iz presert, Tng has something

to attach to, The addition of not doesn't separate tng from the thing

it attaches to ' C ’

" (Notice that the string NP_+ tns + be + Nag is adequate to explain the
addition of not to. sentences F&J ing either the auxiliary be or the verb Be,

For economy, then, in this rule, we will Iet be stand for the verb Be as

well as for the auxiliary be, ) '

Now study the negative strings you constructed for the sentences in
Exercise 2 ia which there are not M, have, or be, Your. strings should -
look like this: (Remember that for Tns you can write eitlier pest or pree, )

L NP+ past + Neg + Vink + .,

*le chﬂd\? :ét bec\bme i}l,

3. NP + past + Neg + Vmid + ., ,,

*Th\};uper\ ? ht con‘ a ma(-zer.
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4, NP + pres.+ Neg + Vir +

*Jack ? not ‘pick 'rel_u'ctén"tlf.
6. NP + past + Neg +.Vin'+ , .,

’
- - - o .
- . . .- . .
- PPN

.>. . *The candle.  ? ‘not. glow .+..% ,

Notice that when Neg is inserted i&ungdiateiy before the verb, if separates
Tns from anything it can attach to, Tns, of course, attaches-only to verbs, .

- Exercise 3: - - . - - ‘ .
_.Now copy the symbol strings above, but insert do between the Tns
. {past or pres) and Neg, ' Then show how the strings, with do added,
produce grammatical negative sentences for 1, 3, 4, and 6, of

Exercige 2, . . - - : -
Example: NP + past + do + Neg + Vltr o oo

\
The'boy did  ndt  break i} window,

We have already written the part of the negative rule which shows
.that not can be added immediately after M, have, or be, Now we need
to show’what-happens to sentences which do not have M, have, or be,
These will be sentences like 1, 3, 4, and 6 on pPp. 4-5. These sentences .
contained Vink, Vmid, Vir, and Vin. (in other words, every kind but
Be,) What'is the symbol which includes all types of verbs but Be?
We will use this symbol, Ve have found that in sich sentences not is
ingerted just before the Vrb. With the addition of this information we
can symbelize the negative transformation more accurately,

[Tns + M Tns + M + not]

Tns + have Tns + have + not
Tns + be ces =N ...Tnst be *not

Tns -+ Vrb o " Tns+ not + Vrb

This rule shows,of course, that after the transformation of sentences with
only Vrb, - Tns will have nothing to attach to, These then require the addition
of do, ) . :

The dc sug- port transformation

Can you.remember in what other kind of sentence it is necessary to
add do to make g grammatical sentence? In the yes-or- no question
transiormation what happened when Tns wasn't followed by M, have, or be?

We have found at least two situations in which a transformation separates
TIns from the thing it attaches to, And in each case we found that do was
then added, We should now be ready to show this in a rule, This trans-
formation is called the Tgp-gy . It is the one which inserts do into
questions as well as intawtf%%:' Whenever a transformation separates
Ins from anything it can attach to, do must be added. The following
rule shows this fact:

N

.
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Tdo-auppor:' _ .Tné e= Tns ¥ do (where Tns is not foliowed Ly
. o M, have, be, or Vrb)

o

Exercise 4: - : DT _
Write symbol strings for the following sentences, Then put

thém through the negative transformation, In those sentences
which do not have M, have, or be, show the do-support trans-

formation which ig necessary to producea grammatical senterice,. .

Example: ’i‘heswaliﬂwé returned in April, .
' Néﬁa ﬁ}n # T{ - Ineg
‘The swallows returné&- in Apiil )
| NP + past + Neg + Vin + Tm -.g&;
NP+ pagt-r' do+ Neg+ Vin+ Tm

The swallows did ot retdrn in April,

1. The rain knocked the flowers to the ground,
; _ 2. The team will hold a rally in the gym, _
| 3. Kofax pitched a no-khitter in Minneapolis,

4

5

. Lorna goes to our school this year,
. The cafeteria serves fish on Friday,

When does a sentence become negative?

Now that w= know what happens in a negative transformation, we
must ask how we know when to apply it, What is there in the underlying
strings of these two sentences - - : ' '

: The swallows returred in April,
The swallows did not return in April,

to show that ¢ne will become negative and one will not? Remember that
we faced the same problem with the question transformation, We decided
: that in sentences that become questions there was a question element
: : in the underlying structure which triggered t:e transformation, Why did
we add Q to the first Phrase Structure rule? What does it stand for ?
When we begin to generate a sentence do we have a choice of making it . -
negative or not? We can show this choice by adding the symbol Neg to . .
; the first Phrase Structure rule, Since it is an optional element we must
‘ put it in parentheses, The new version of Rule 1 will then look like this: ,
AR {

LRule (1) S «—3 (Q) (Neg) NP + vp‘

This rule tells us that ifwe select Neg our terminal string will then go
through the Negziive transformation, The addition of Neg doubles the

e L e
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kinds of sentences we can account for, How rmany posgsibilities do you cee? -
'If we.choose either of the optional elements~~or Loth of theni--they wil?
direct us to produce the proper transformation, Far example, whenever
.we produce a negative sentence such as Tom was not going we will produce
the same basic symbol string as its corresponding declarative sentence
- -~Tom was going--except that the symbel Neg will appear at the beginning
-, to-guarantee that the sentence will go through the negative transformation,

.
T e et 2 A TY
L
-«

if wé wish to.diagram a s‘entence in which Nég is chosen, it will-appear
in the diagram in this way: : -

2

past

. _ S
.Symbol string: Neg + NP + st + be + ing +

Sentence string; Njeg + Tom + ,'pa!at + be iLg +

The Neg directs us to put this string through the negative transformation
before it can become a sentence. Thus:

'Neg + Tom + past + be + ing + go Tﬂ:)
Tbrn+past+be+Neg+ing+go

.To\n' : '\Wa/'s n{':t_' }oﬁ

If we have the choice of Neg in our first rule, we can conclude that
only strings which contain Neg will go through the transformation and
become negative, We should add the symbol, then, to the negative trans-
formation rule,r We can summarize all of the information we have -

discovered in this unit in the Negative rule,
l M

‘1" Tns*"have‘ o, -._—_::%
Neg + NP + [ ) '

>t

neg be

Tns + Vrb

. M :
Thns + have + Ne '
be * e

Tns + Neg + Vrb




ercise 5: : .
- Write the underlying symbol strings for the following sentences,
Then write the corresponding negative sentence, and show 1) where
. Neg appears in its symbol string and 2) how Neg produces the negative
iransformation, Remember that some sentences will requirea

7. 8rd tiansformation, the do-support,

cvamgles ¢ . | |
. lam ANP #ins + be + dng + Via) - . mo -
I'am xgm.t;tm'g‘c;ing, (Neg + NP + _tnsm_g* be + ing + Vin %

. NP+ ins + be + Neg * ing + Vin
g 'I; 4 | not/ ’goin‘{‘./_

The puppy followed the children to school.
Many teenagers dunk french fries in catsup,
The culprit could explain sverything, ,
We saluted the tlag during the ceremony,
His uniform was spotless, : '
The tornado had destroyad the town,

At the begi of this unit we explained that we would limit cur
discussion of Neg to not at this time, However, many other words can
produce negative sentences, Even though we will not formalize rules
about cther negatives 2¢ this time. you should be abie to draw gome cone
clusions by comparing other negatives with the simple negative which we
have been exploring,

o
. .
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An exercise in research:

You may enjoy doing some investigating on your own, See how many
other negative words you can list, Put them in sentences to see how they
function, For example, can other negatives move around in'a sentence?
(Remember not occupies a fixed position,) Standard usage does not permit
the use of a double negative i1 a sentence, Do any of the sentences you
aave written contain two negtiivea? Does our rule for Neg accommodate
& double negative? Should it? Cen you detect .y pattern in the way
other negatives aflect English sentences? Perhaps when you have finished
gome exploration of your own into the problems of e negative you will
understand better the necessity for further consideration of the negative

in later rules.

The Negative Question 2

In Phrase Structure Rule (1) we now have the uption of choosing either _
Neg or Q. We alsgo have an opportunity to choose both. Some of the following
: are negative, Some are questions. Are there any which are both negative
é .. and questions?

‘ : 1, Didhe ?o?
! 2, He didn't go,
3. Didn't he go?

rrmbanase L e

A\
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.
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4, Wasn't Charles there?
5, Ididn't gsee you,
6. Won't you come to the party?

Those which are both are called ne ¢ questions, They result from
choosing both and Q in tne first rule, qul.ct'c see how sentence
#4 was generat Since it is both negative and a question we know that

" ‘both Neg and Q were chosen, The diagram would 100k like this,

. =S
QF Neg—¥ up/ \Q
4””' S
Apx V@Q::

_ Tns Loc

| .
Symbol
string: Q + Neg + NP 4+ :r:t % Be + L
Sentence A‘" ! | \
string: + Neg + le# + past + be + there,

6ur negitiva transformation tells us that if we oave 2 string like
«ooNeg # NP + past + be,, . it will become., , , NP + past+

. : . be ¥ Neg. ..
So our string above will becomes Q + NP + past + + Neg + Loc
Charles was nat ther'o

' The question transformation (Tq) tells us that if we have

' M
Q + NP+ Tns + [gvc] co s it becomes

- -
v

be

But it does not tell us what to do if the string contains Neg, How can
- we change the transformation so that it will change a iike

.Q + NP + past + be + Neg + Loc
Ctm]':ea / ..Z !

M »
Q*+ Tug + {h‘?‘] + NP oo o0

there

......
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into a negative question string which will produce Wasn't Charles there?

What element do we find in the string Charles was not there which is not
| v.cluded in our present question transformeation rule? If we were to

- add the clement ggg to the rule, then it could operate on strings like

tiie one above, We want it to be able to transforra both strings wlith

Neg and those without, g0 we will make Negoptional., Then it can

cperate Loth on negative and on declarative strings, In the transformation
of Charles was siot there to Wasn't Charles there, does the negative
element move anead of the NP with ms_}__hg_or does it stay where it

is? We will want to show that it moves with the other eiements that

move to the front of the sentence, The revised TqQ, then ill look like

Vo vy e

e ewmangs PE e e W""M.——--—u e "
A \

this:
- M
be
T Q<+ NP + Tns + hav (Neg) . . . =
Q

M o]
Q +* Trs + have (Neg) + NP, , .
e

This revised rule will enable us to transform
Q + NP + past + + Neg + Loc i
Charles was n!)t there :

Q + past + be ¥+ Neg + IP + Loc {
\’V'as not Charles t}xere? f

What will this revised Tq do to a string like ,
Q+NP+pres+1VI;fio |

He can go

which does not contain a negative element ? S

It will change it to a simple yes-or-no question,

Q+pre<+M+NP+o
S]]
3

Can he ?

But if the string doces contain a negative, such as

s Q‘*’l\;P‘*' prV*’?@.g*/g()
He ca nct gb

R Tty e

Aruitoxt provided by Eic:
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Q"’pres"‘- + Neg + NP + go
N £ L]

not ke

it will change it to

Contractions

Most of us would probably not say Was not Charles there? nor
Can not he go? What would we say? Wasn't and can't are alternate forms
for was not and o, They are said to be contractions, Whai does

n't stand for? Look at the foliowing pairs of sentences and decide which
ones are grammatical,
The milkman did nct leave the milk, Did not the milkman leave the milk
The milkmarn didn't leave the milk, Didn't the milkman leave the milk?
‘I will not be there, o Will ot I be there?
' won't be there, Won't I be there?
The cat has not come in. Hasg not the cat come in?
The cat-hasn't come in, Hagn't the cat conie in?

. The boys should not be so noisy, Should not the boys be s0 noisy?
The boys shouldn't be so noisy, Shouldn't the boys be so0 noisy?

What can you concliude about the occurence of n't, The pairs of sentences
in the column on the left are simple negatives, e not appears in the
'verb string after the NP, In such sentences dces it geem to matter whether
not appears or n't? Apparently it is optional to change the not to n't.

; The pairs of senfences on the right above are negative questions. The

. not appears before the NP, In such sentences, what change must take

‘ place to make it grammaticall Apparently, when not cccurs before an

% NP it must be changed to n't, In other words it must be made into a

contraction,

oMU v e

: Therefore, when the question transformation operates on negative ,
: sentences to produce sentences like Was not Charles there? ‘and Can |
3 not he go? they must become Wasn't Charlesg there? and Can't he go?

FNAT

Exercise 6:

Turn each of the following into negatives and then into negative

questions, o :

Example: The leaves are f: fast, -
The leaves are not falling fast, =) :
Aren't the leaves falling fast? ;

The tearn was discouraged,

The repairmen have been working all! summmer,
The squirrel raced to the treetop,

Bill is running for president,

The nurse discovered the serum in the icebox,
The group will take off in the morning,

A bird flew into the attic,

o e
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8. This is Johei's typewriter,
9. The clzss has counted the errers,
10, We havs besn reviawing the exercizes.

ggerggg 1:

erform the transformations called for by the symbols Q and Neg

in the following sirings, and then write sentences for the firal irans-
formed strirgs. Remember that some will also require the do-

support transformation, T
Example: Q + Neg + NP+prag+ M+ Vir+ NP itk

T
G + NP+pres+ M* Neg+ Vir+ NP =23

Q 4>prewgg+ NP+ Vip + NP
Aan't the ;;Iieem}n"came robber?
o @ * NP +past+ have + en+ Vin+ Man
Q + NP+ preg+ M + have + en + Vink + Adj
Q+* NP + pres + Be + NP
Neg+ NP + past + M + Be + Adj
Neg+* NP+ past+ he ¢ i&g* Vin+ Tm
Neg+ NP+ pros+ Vmid ¥+ NP+ Loc
Q+ Neg+ NP+ pres+ be + ing+ Vir + NP+ Msan
Q + Neg < NP + pest + M + havet et Vink + NP
Q+ Neg+ NP*th,*' have + en+ Vir + NP+ Loc
Q@ + Neg+ NP+ pres + Vi ¥ NP+ Dir

PP SO B L
S ® o 8 @

€
7
8,
8
10,

 Exercise §:

raw diagrams for the following sentences, If the sentence is a
questiori be sure to include Q in your diagram, If it is negativs,
be sure ¢o include _hl?,g. If it 18 a2 negative question, ineclude both.
Then show the transformations the terminal string must go through
to produce the final sentence. Simply bring NP down in*o the string
a8 in the example,
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Example: Won't the dog bita?

A]“’E/ \‘V rb
: AR
/
]
pfes ‘ T
I 'Nég"’ NP ¢ pres + M + V.3 -_ls..—ié:}
. TQ
? + NP + pres + M + Negt+V,, —/—
Q + pres + M + Neg + NP + V;,
Y ofe e dog o,
wWill the dog bite?
“Weatt
1, Is the teacher staying here?
{ 2, Hasg the bus left®
? 3. The bus hasn't lefi,
b 4, Hasn't the bus left?
5, Can't the pointer find the bird?
g
4




